Answers

Unit 1 ~ Estimation and Statlstics

Exercisas, page 1
18 m 2. Superior, Huron, Michigan, Erie, Ontaric, Great Bear, Great Slave, Winnipeg
Great Baar 4. 288900 km? 5. Tanganyika, Baykal, Great Bear
Namas of islands. Areas in kmZ2. 7. Alphabetically
Greeriland, New Guinea, Boneo, Madagascar, Baffin, Sumatra, Honshu, Great Britain, Victoria, Ellesmere
Baffin 10. 450 km? 11. Mo, 169710kmZ  12. Batfin, Ellesmere, Victoria
3. Ellesmere Island is in the Arctic Ocean, west of Greentand and north of Baffin Island.

Madagascar is southest of Alrica. Sumatra is south of Malaysia in Indonesia.

Victaria leland is north of the Northwest Territories. Bornso is northwest of Australia in Indonesia.

somews

Practice, page 2

1., Jasper 2. Yukon Territory 3.28

4. Man. 1,N.B.2 Nild. 2,N.5. 2, NW.T.3,0nt. 4, P.E.L1,Que. 2 Sask. 1,Y.T.1

5. Ala., Ont,B.C.

6. a WoodBufiab b. St Lawrence lslands 7. a. Largestareatosmallest 8. 1,8,3,8,4
c. Banff d. Pukaskwa b. By Provinces (location)

Practice {cont'd.), page 3

9. Distance belween two Cities. 10. They would be less.
11. a. 1249km b. 3743km ¢ 4973km
12. 6280km 13. 7 14. 0 15. 2 16. 0
17. a. Yes b. Yes c. Yes d. Yes
1B.a 503=3E3IPIBIG®?3 3M5=5®H5®5 b. 5(x)3 =3(shownina)
s@®3I®I®?3 =10(®s 5x3 =15
=9 (%3 3 =3
03

Allas Research, page 3
Honshu, New Guinea, Baffin, Great Britain

Exercises, page 4

1. 5000+ 900C0=14000 2. 800 + 1000 = 7800

3. 48000 + 6000 = 54 000 4, 380+80=460

5. 4630+ 80=4710 6. 78000-6000=72000

7. B50-80=570 @. 40000-10000=30000

9. B300-900=5400 10. 3800 — 400 = 3400

11. 400+ 800 +500=1700 12. 10000 + Q00 + 6000 = 16 000

13. 8000 + 00C0 + 2000 = 10000 14. 4000 + 1000 + 0000 = 5000

45. 90 000 + 00 000 + 00 000 = 80 000 16. 390 + 750 + 460 = 1600 -
17. 9500 + 300 + 6300 = 16 100 18. 7800 + 100 + 2500 = 10 400

19. 3B00 + 700 + 100 = 4600 20, 94000 + 4000 + 4000 = 102 000

Practice, page 5

1. 7800 -900 = 6300 2. 1200+ 900=2100

3. 2800 + 1300 = 4100 4. 2700-800=1900

5. B2 600— 800 =81800 6. 3780+ 30=2810

7. 8600+ 500=9100 B. '6400-700=5700

9. 4270-90=4180 10. 82000 + 6000 = 88 000

11. 3500 +500 = 4000 12. 6400 — 600 = 5800

13. 2300600 = 1700 : 14. 90000 +1000C =100 000

15. 82 000 + 10000 = 92 000 16. =2 200 000

17. =200 000 18. =330 000 000 Km?

19. = 10000 000 km2 20. =19900kg 21. =900 kg
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Fumble Fingers Frieda, paga 5
b. =7728 c. =86948

Exerclses, page 6

1. 1000 x80 = 80000

3. 7000 x 30 =630 000
5. 2000 x 200 = 400 000
7. 7000 x 800 =5 600 000
9. 270+40=6.75

. 760+40=19

. 2500+50=50

. 1400+70=20

. 380x60=22800

. 3000 x23 =69 000

. 420+14 =30 ‘

. 4800 +12 =400

Practice, page 7

1. 4000 x 90 =360 000

3. 1600x50=80000

§. 900 x 200 = 180 000

7. 900x 200 =180000

9. 38000x 100 =3 800 000
. 69000x 100 =8900 000
. B40+ 40 =21 14.
. 7200+ 12 =600 19.
. 5400+ 27 =200 24,

. =~ 100 times 29.

720+60=12
3800+ 19 = 200
10400 + 26 = 400

=40times

Pinching Pennles, page 7
273 at 13¢ each, 403 at 28¢ each

Estimating Parts, page 8
A=33

Exerclses, page 8

1. =4/50r2/3 2. =350r23

6. =2/50r1/3 e 7. betwesn 75 and 76
10. betwean 96and 97 11. about 85

Practice, page

1. =34 2. =14

6. =910 7. A=82 8-88

11, A=81,8=92 12. A=20,8=44

16. 45kg 17. 204 kg

21. B100m

Estimating Centimetres, page 9
=27cm

Exerclse, page 1b
1. C.R.LA Record Album Awards.
3. Numberof Abums. 4. 10

6. =142 7. =155

Practice, page 11

1. a.  No.of Awards won
¢.  Juno Awards
e.  Anne Murray
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13.
18.

L

~ag

=B8174 f. =123562

3000 x BO = 240 000
8000 x B0 = 640 000
2000 x 400 = 800 000
2000 x 700 = 1 400 000

. 600+20=30

. 440+20=22

. 8800+ 40 =220

. 5700+ 30=190

. 6000 x 420 = 2 520 000
. 4300 x 70 =301 000

. 460+23=20

. 5600+28 =200

4000 x 30 = 120000
5000 x 70 = 350 000
400 x 200 = 80 000

600 x 400 = 240 000

. 40000 x 300 = 12 000 000
. 50000 x 200 = 10 000.000
. 810+90=9

. 5400 + 18 =300

. =3times

16, 350+70=5
21, 4600 +23=200

26.=8times

=350r2/3 4.
between 37 and 38 9.

=2/50r1/3 5
about 134

=2/4 4,
A=62, B8=59 9.
58kg 14,
5100 m 19,

=5/10 5,

A=108,B=102 10,
45 kg 15,
5500 m 20.

" Kinds of Awards won,

=28
6times

Top female vocalists
Answer depends on student graph
Yas

17.
22,

27.

g. =83303

3900+ 13 = 300
8400+ 21 =400

= 25times

=1/50r1/3

=7H1Q
A=20,B=5
55kg

5200 m



2. a. Number of habitants b. milions ¢. 25 million
d. 2 million a. 9milion

Practice {cont'd.), page 12

4. a. Avoragetemp. ranges b. Degrees calsius ¢. Multiplesof &
5. . a. =535 hundred million dollars b. =20hundred million dollars
¢. =770 hundrad million dallars

Review, page 13

1. No. of Canadians that have certain mother tongues e
2. Languages - 3. 484050

4. =80000014918445-14 192 770 =14 900 000 — 14 100 000 = 800 000

5. 400+ 900 =1300 6. 8000+ 8000=16000

7. BOO0G-— 4000 = 4000 8. 84000-8000=76000

9, 400x 20 =8000 10. 9000 x 500 = 4 500000

11. BBO+43=20 12. 4800+ 12 =400

13. A=20,8=48 14. A=32,B=43 15. A=12,B=37 16, A=53 B=56 . 17. =245
18. =70 19, =535 —

Exerclses, page 14

1. a. 90 milion b. 250 million c. 88milion d. B1milien
2. a 1959 b. 1945 c. 1974 d. 1952

3. a 150 million b, 12 million c. 142 milion d. 100 million
4. Ontaric

Exerclsas (cont’d.), page 15
5. a. Manitoba b. Ontario 6. a. =10milion b. =7 million

7 @& 1871 —Ont 1.7,Que. 1.4, Pr.08, All 0.2,B.C.— 1981 —Ont. 8.5, Que. 6.2, Pr. 45, Atl. 2.8,B.C. 2.2
b. Dif.—Oni. 6.8, Que. 4.8, Pr. 3.7, All. 2.6, BC.2.2
e. Ontario d. 1951-1961 e. 33.4 milion, 26.1 million N

8. a. day9andday10 b. dayZ2andday3 ¢c. about145cm

Practice, page 18

2 & 1935— 102 newspapers, 2.3 milioncirc.; 1981 — 115 newspapers, 5.7 million circ.
b. 112 newspapers c. '71-81
d. 2000 000-1924; 5 000000—1973; 3500 000 —1951; 6 000 000 — 1981

Practles (cont'd), page 17
3 b, 7P.M.—-8°C:7AM.-2°C;9AM.— 6.5°C c. warmer
4. a 1951-1953 b. 1959-1961

Accelerating Your Imaglnation, page 17
Answers vary.

'Exerclsss, page 19 -

1. Range=104 2. Range=15 3. Range=35 4, Range =26 5 Mean=7
6. Meann45 7. Mean=4 8. Mean=70

Practice, page 18

1. Range=7,Mean=15 2. Range =75 Mean=65

3. Range = 6, Maan £ 22 4. Range =9 Mean=4

5. Range=19, Mean=71 6. -Range =17,Mean =112

7. Range = 60, Mean =71 8. Range = 40, Mean =52

g 7 10. 5 1. 22 12. 54
Practice (cont’d.), page 20

13. Range=12, Mean=7 14.Range = 10, Mean = 15

15. 100 16. 52

17. a. 100 b. 701099 c. 401069 d. 10t039

18. Mean = $200 000; No, one tamily has a very high income compared with other families.
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Burvey Report, page 20
Answers vary.

Computing the Mean, page 21

1. a 20 b. 12 c. 21 2. 13,25,50,70, 85, 105, 140

3. Toinitialize the sum by giving it the starting value of 0.

Exerclses, page 23

1. § 2. 255 3. 81 4. 3135 5 7
6, 45,53 7. 37 8. NoMode
9. Range =40, Median = 80, Mode = 80 10. Range = 6, Madian = 22, Mode = 21
11. Range = §$49, Median = $5, Mode = $10 12. Range = $25 000, Median = $30 000 Mode = $25 000
13. Range =8, Median = 4.3, Mode = 4
Practice, page 24 :
1, Fiange =19, Median =17, Mode =9 2. Range = 16, Median = 14, Modes = 14 and 15
3. Range=8, Madian=1, Mode=1 - 4. Range = 19, Median = 79, Modes = 80 and 89
5. Range =32, Median = 97, Mean = 98, Modes = 95 and 97
6. Hange=7, Median = 11,5, Mean = 12.7, Mode = 11
7 Range =7, Median =4.8, Mode = 2 8. Rangs =10, Median = 6.4, Mode = 7
B, 1,1,1,2,45,5.8,9 10. 1,2,3,4,5,7,.6,8,8
11. 222558911 13 12. 1,1,2,3,4,5,9,9,9
13. Range = 35, Mean = 40.375, Median = 38. 5, No Mode
14. Range = 35, Mean = 42.3, Median = 46.5, Mode = 49
Stem-and-Leaf Graphs, page 25
1. a. 22,28, 30,30, 33, 35, 36, 40,42, 49 b. 34
2. a 5| 23788
6 0233378899
7| 02345669999
8| 333577
9] 06022359
b. 75
3. a 13|12
14| 5849
16| 0122223445587
16/ 0368 :
17| 00186 b. 154 c. 152
Practice, page 27 )
1. 79,69 2 Yes, its box is at a higher interval 3 a 85 b. 64
4. 66-76 5. 8489 6. a. 26 b. 30
7. a 13 b. 273 c. 0 d o0 8. 33or1
f. 33or1 8. Older
Take a Survay, page 27
Answaers vary.
Exerclses, page 28
1. 7397 2. 71503 4, 645274 6. 64808 7. 89990
8. 9170 9, 48 10. 4582 11. R12 13. 2845
15. 74152 16. 3756573
Practlce page 29
13762 2, 4781 3. 100000 4, 42009 5. 7428
6. 66 544 7. 48891 8. 1259 8. 5905 10. 45099
11. 59181 12. 51029 13. 58275 14, 32955 15. 211842
16. 176472 17. 13R4 18. 99R6 19, 22R1 20. 31 R10

21. 42R50 22, 952 23. 62R63 24, 184R375
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Misleading Graphs, page 29

a. Smaller vertical scale needed. b. Show whole graph. Show more years.

c. Show vortical scale. d. Indicate whether it is the high or low of the day.

a. Scales notclear, {.  Smaller vertical scale.

Revlew, page 30

1. a 10°C b, 18°C ¢c. 3C d. 10°C

2. a 18°C b. 30°C c. 13°C d. 25°C

3. Range =23 Mean=30 4, Range =53, Mean = 105

5 §5 6. §9 7. 7 8 1 9. 9

10. Median 11. 59029 12. 51921 13, 9548 A2 14, 31 R2
Test - Unlt 1, page 31

1. 28 2. 409 3 137 4. A=17,B=23 5. A=13,B=22
6. a 20 b. 23 c. 43 d 36 7. 10

8. a =27° b. =20°C

9. Tuesday and Wednesday 10. 20°C

11. Range =9, Mean = 21 12. Range =13, Mean =193

13. Median =8, Modes = 6,8 and 9 14. Median = 56, Modes =55

Unit 2 — Declmals

Exerclses, page 33

1. 2 2, 3 3. at 4, 48 5. 9

6. 17 7. Ax4x4xd4x4=1024 8. 10x10x10=1000

9. BEx6x6x6=1206 10. =32 11. =9 12. =1000Q 13, =64

14. =729 15. =1 16. =6 17. =1 i8, =1

19, =4 °

Practice, page 33

1. =92 2. =25 3. =108 4 =¢t 5. =1542
6. =357 7. =42 8 =138 9, =98 10. =52

11. =103 12, =32 13, =62 14, =23 15. =625
16. =216 17. =1 18. = 1000000000 19. =5 20, =

21. =81 22, =81 23, =13 24. =57 25. =936
26. =39 27. =13 28. =118 28, =4

Short Cui, page 33

1. =25 2. =108 3. 2 4 =192 5. =74

6. =102 7. =27 8. =6 9, =&l 10, =5!
Exerclses, page 34 )

i. tenths, 0.4 2. hundredths, 0.04 3. ones, 4 4. thousandths, 0.004

5. tenthousandihs, 0.0004 6, =2764 7. =0.789 8. =0,0204
9. =37 10. =8050 11. =0.004 12. =0.013 13. =14

14, =0.08

Practlce, page 35

1. hundredths 0.08 2. tenths 0.7 a. thousandths0.003 4. ones?

5. hundred thousandths 0.000 05 6. tens40,tenths 0.4 7. hundreds 600, hundredths 0.06

8. thousands 1000, thousandths 0.001 9. ones 2, tenths 0.2

10. hundredths 0.00, hundrad thousandths 0.000 05 11, =20.304 12 =107.07004
13. =605.0067 =8000,80009 15. =342 16. =7.082 17. =506.05
18. =B80.5004 19. =58 006 20. =623 21. =1.074 22. =0.30405
23. 100000 24. 01 25. 1000 26. 0.0001 27. 1

28. 100 29, 0.01 30. 10000 31. 0.0001 32. 01
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Calculator Power, page 35

1. 1944 2. 150.0625

5. 16 6. 338688

Exerclse, page 37

1. 10 2. 91 3.
6 < 7. 09876<1 8.
11. < 12, < 13.
16. > 17. > 18.
21, > 22. 2.0,3.09,31 23
25. 8.99,80.35,80.99 26. lisinorder 27.
30. 13.9 ’ 31. 98 a2
35. 0.71 36. 2.646 37
40. 10 41. 3 42
45, 8.4 48, 9.360 47
Practice, page 38

3 > 4. > 5.
8. 1.301>1.103 g 0.020s 0.002 10.
13. = 14. > 15.
17. 3.04,3.4,3.40,3.44, 4.03, 4.33 18
18, 0.098, 0.389, 0.563, 0.570, 0.609, 1.002 20.
21. 3.808,3.81,3.8,4 22
23, 90.249, 90.25, 90.2, 90 24
25. %2 26. %5 27
30. 6m 31. 1m 32
35. answers vary a. 235 b.
e. 7.3879 f. 6.09005

Intraducing INTeger, page 39
a. =8 b
f. =0

o~

. = Cc.

9. N=0.3,N--03 N=05
Powers in BASIC, page 39
a. 9 b.
f.

100 000 c.

Exerclses, page 40

1. 2+3=5,49 2. 5+7=12 11.85 a
6. 0.0+01=0.1,0.108 7.
8. 0.08-0.01=0.07,0.0678 9,
12. 11.3 13. 91.64 14,
17. 85.56 18. 0.05013 19,
22, 3,555 23. 5,157

Practice, page 41

1. 7+15=22,=2228 2.
3. 18-3=15=15.02 4.
5. 3567 +0+3=13570, = 3569.5465 6.
7. 11-0=11,=10.77591 8.
9. 9-6-3=3123 10.
11. $2.07, $6+$9+$4=$19,$20—$19=$1 12.
13. $17.75, 813 + $3 + $3 =510 14,

15. Route A

Calculator Challenge, page 41
a. 0.2021215630158 Separale the digits and add
b. 58.859 888 721 36 Separate the digits and subtract

Exerclse, page 42

1. 3.76,37.6, 376, 0.0376, 0.003 76
3. 702,7020,70200,7.02,0.702
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. 4

GOTO 10. The axponent can be changed in the LOOP, the base stays the

3 72 4. 22500
7. 698 8. 14070001

8 4. D 5. 6390 <65
< 9 < 10, 48.05 <485
= 14, > 15. >
> 19, » 20. <«

. 0.097,0.706,0.76 24. 6.23,6.30, 6.32

. 0.037,0.073,0.107 28. 3.6 29, 4.0

., 2.09 33. 10.07 34. 10.00

. 8.800 38. 6.000 39. 10.000

4.5 44. 7.3

. 4.7380
0.5>0.05 6. 164>148 7. >
> 11, > 12. <
< 16. =

. 9.08,9.94, 10.24, 10.38, 10.78, 11.07

. 47.98,49.78, 79.48, 84.97, 80,74, 97.84

. 0.734,073,0.7, 1

. 19.799, 19.80, 19.8, 20

.87 28. 529 29. $83

. 36m 33. 1m 3. Tm
3.165 c. 9.91 d. 0738
=105 d. =107 e =0
N=-0.49
1024 d. 78125 e. 43and47

same.

18- 135,58 4. 4-2-2 21398 5 1+41=2151
0.04 —0.02 = 0.02, 0.0174
115 10. 4 11, 182.7
70.99 15. 79.393 16. 66.25

. 0.12987 20. 0.0019 21. 7.6
38+9+9=54,=5453
14-6=8,=824
0.1-0=0.1,=0.08252
44+0+1+1=86,=58501

. 14+84+74+049=25 =24554
$31.20, 7 + $24 = $31 :
a. $910.86 b. $903.05 c. $3424
85, 850, 8500, 0.85, 0.085
640 5. 12740 6. 0.0003



O RREESS s s o

7. 0.00017 B. 430
12. 7.02,0.702, 0.0702, 702, 7020
14. 0,037 6,0.00376,0.000376, 3.76,37.6

18. 83600 19. 0.082
Practice, page 43

1. 0.83 . 857

6. 0.0002 7. 0.0045
11. 700 12. 820

16. 0.856 17. 0.00004
21. $8.73

Scientltic Notatlon, page 43

a. 1.38x107g b. 2.96x108k
o, 94605x102km f. 5.1x108km
Exercise, page 44

1. 09 2. 40

6. 2 7. 1

1. 2 12. 3
Exerclsa (cont'd.), page 45

14, =9 15. = 0.9

19. = $40.00 20. = $1100
24 =4 25 =04

29. =054 30. ~0.08

34, 51.75 35. 5175

39. 51.756 40. 0.05175
44, 0.64436 45. 0.064 436
49. 0.0522 50. 12,24, 36

54. 0.76,1.52,2.28 55.
58. 0.00035, 0.0007,0.00105

Practice, page 46

1. 10x05=5,4.8

3. 0.002x0.2=0.0004,0.00032
5. 100x7=700,709.92

7. B5x3=255,239.701

9. 1x2=2,2.03232

11. 103.95 12. 0.0228
16. 16.1 17. 57.15
21. a. $32.62 b. $11.56
22. a. $1.14 b. $056
23, a. $10.36 b. $45.33
25. 8. 37.4m2 b. 156m2
26. &, 756m? b. 89.76m2

Calculator Challengs, page 47

a. 736349724 b. 112180256
f. 588.357 846 300

Review, page 47

1. 8 . 10000 000
6. 18.27 7. 400.96 .
1. = 12. 47
16. 21.429 17. 0.03227
21. 0.0069 22, 74

25. 37x1=37,2238
27. 0.4x 0.02 = 0.008, 0.008 448

0.025, 0.05,0.075

18%x03=54,46
0.4x0.8 0.32,0.27
7x10=70,71.392
0.1x830=83,63.412

. 0.0Bx0.4=0.32, 02772

. 3456 14,
. 0.012 19.
$34.08
$2.81 d.
$24.61 24,
121.125 m2
101.49 m2
714310517 d.
B1 a,
360.5 9.
. 137 € 14,
. 11.8756 19.
. 0.38 24,

. 0.4x20=8,817836

6073 10. 8.42 1.
. 0.85, 0.085, 0.0085, BS, 850
. 0.338 16. 0.0003 17.
. 0.003 84 21. 74 22.
63 a. 007 5,
0.004 8 9. 0.932 10.
. 3540000 14. 6800 15.
. 107 19. 0.045 20,
1.5x 108km d. 595x10%km
120 4. 0.0054 5.
5 9. 6 10.
8
. ~ 156 17. =78 18.
. =$110 22, =54 23.
. = 0.4 27. = 0.04 28,
. = 0.008 32, = 0.024 33.
. 0.05175 37. 5175 38,
. 0.0005175 42. 64436 3.
. 52.2 47. 5.22 48.
. 19,3857 52. 0.021,0.042,0.063 53.
. 7,14,21 57. 0.096,0.192, 0.288

0.224 15.
13.095 20.
$5.38

$57.28

30388.772 754 e.

5 o 5.

428 10.
2.0 15.
12.346 20.

40 10 = 400, 464.4

0.00012

3540 000
480

9780
6530
23

903 200

=~ $5.00
= 600
=54

= 0.24

5.175

644,36

0.522

56 11.2,16.8

27348.42
5.981 86

21926 446.788

2.0
345 e
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Exercises, page 48

1. 360
6. x102
1. x 102

2. 40
7. x10
12, x 109

Exerclses (cont'd.), page 49

14, 25+05=5
19, 25+5=05

15. 64+08=80
20. 1.5+3=05

23, 19,190, 1900, 19000

25..0.9,9, 90, 900
29. 35,17.5,11.B6,8.75
31. 2460, 1200, 800, 600
35. 0.05
40. 62,5
45. 32
50. 35423
53, a.
c.

Practice, page 50

26. 16,8,4,3.2

36. 46

M. 0.86
46. 3444
§1. 1246
8 piecas
27 pieces

14. 0.3
19. 0.7
24. 928
b. 28.8cmeach

1. 126+2=63,=60.3
3. 16+8=2=21

5. 0.75+03=25,=26
7. 640+8=80,=832
9. 28+04=70, =734
13. 102

18. (0.04)0.0

23. 04

28. a. 0.78 meach

29. 8. 11m

b. 75m

Calculators and Remalnders, paga 51

a 1m

Programming for Input and Output, page 51
1.

b. 28 1cm

10"ENTER A DIVIDEND: =

20 INPUT A

30 "ENTER A DIVISOR: ™;

40 INPUTB
2. a QABR
3. To subtract the whole
4

Exerclses, page 52
1. 14
5 21
8 3
13. 7
17. 2

Practice, page 53
1. 927

6. #73

1. 2

16. agewn 72
21. 7.08

2% 48 5

31, 2+3)

458

. 24+ 0.04 =600
. 320, 3200, 32 000, 320 OO0

. 0.09,0.18,1.8,09 28. 8 4,28,2
. 840, 420, 280, 210
. 45

900 4. 16000
x 102 9. x10
. x 10
. 490+ 7 =70 17. 56+08=70

22. 35+50=~0.7

33. 25
. 3.21 38, 560
. 26.7 . 43. 415
. 303.3 48, 1727
. 134
12 pieces
30+5=6,=6.3
0.18+03~086,=061
480+40=12,=12.6
2+0.04 =50, =50.7
, 2.3 1. 25
. 401.9 16. 25
. 69.8 21. 1855
. = 39 26. =42
0.95 m each
8m
$0.70

b. A-Dividend, B —Divisor, 3 — Quotient, R — Remainder
number part of Q o determine the remainder.
It allows the remainder 1o be written as a whole number,

2. 14
6. 2
i0. 9
14. 5
18. 5

4

2 43
7. 0

12. 0.8
17. % 3]
22 4
271

32. (3+4)

3. 1 4. 4
. 24 8. 78
M. 2 12, 1
15. 45 16. 10

1 4 91

2 - 9. k32

#* 4 14. 4 0.28

9.3 19, 25.6

0.08 24. 034

(4-2) 29. (2+3)

4—3) 35. (3+2)

5 x1o!
10. x 103

18. 4200+ 7 =600

34. 123
39. 8.25

49. 35

12. 12
17. 18
22. 7.8
27. =14

5. 503

10.. 6

15. 5

20. Sop 1. 3
25. g /
30. (4+2)
36. (8+2)



Operating in BASIC, page 53

a. 343 b. 20

f. 609

Exerclses, page 54

1. 54 . 18
5. 17 6. 149
g 1 10. 12
13. 20 14. 17
17. 5776 18. 6536
Practice, page 55

1. 24 2, 23
5. & 6. 32
9. 5 10. 19
13. 1 14. 2
17. = 18. >
21, = 22 -
25. (19+62)x5=275 26. 2x62+(22+5) =
28, 22x(15+x(5+7) =192

31. 12+(22-1)x2=23 32, (22x3)- (22 +5)

M+ and MR, page 55
a 3+1 16+ [MRI

c. 5-3 [M+] 9- [MA]
e 2x5 [M<] 50+ [MA]

Exarcises, page 56
d

1.

6. d

Practlce, page 57

1. 10+vu 2. ax3

5. xx3 6. Ax{(1+m)
9. 11+{c+2) 10. (nx7)3

11. The number x decreased by 13

The praduct of 4 and a number n

15. The product of the numbars a and b
. A number d decreased by 2, times 3
3m 20. b(t+10)
. GsA 24. (B+ X2

What Expression? page 57
1. Anumber miimes 3;3 m

The product of a number yand 3, plus 1; 3y +1 4.
6

3.
. §. A number {divided by 2, plus 1; t/2+1
7. The square of a number r, divided by 2; 22

Exerclses, page 56

1. 37 . 6
6. B 7. 7
11. 24 12. &
16. 25 17. 8
21. 2040 22, 12

b. 2+3 M+ 25+ [ME]

d. 506 . 5

c. 2

3. s 324 4 20

7. 242 8. 144

11. 14 12. 4

15. 4 16. 512

3. 110 4. 0

7. 33 8. 1

1. 17 12. 2496

5. 1 16. =

19. > 20. <

23. (62 -12)+22-6 24, 10x(23-5) =30
g 27. 5043x(6-22)=7

29, (6x3%)-(12+22)=20 30. (17-3%)- @49+ 3)= 22
-3 93, (32+5)x2+23/3=12 34. (2242%)-(3x5)=5

d. 9+3 14—
. 2x5 [M«]50-

3. 125
B. 24
13. 7
18. 5

AN
4, a 5. b
S+ 5 4, (20+2)-y
XX yx2z 8. +8 ;
. Twelve divided by a number n

. The square of a number
. The sum of the numbers aand b

 The sum of a number w and 7, divided by a number v
. 4m

. 3(x-1)

22. abc
26. mA3- 2

The square of a number &, decreased by 1; k-1
A number s divided by 2;5/2
Thae cube of a number x;

4 15 5 1
9. -12 10. 4
14, 1 15. 18
19. 9 20. 16
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Practice, page 59

1. 8,12,49,8,104,30 2. 6,9, 14, 44,654
4 a 2 b. 11

5. B 27 b. 9

6. a 7 b. 0

7. a. 9 b. 4

8. a 20 b. 25

9. a 13 b, 126
10. a. 24 b. 64
LET Statements, page 59

a. 100,1.37 b, 11.93
Exerclses, page 60

1.  Associative

2. Commutative

pPoapRpoRW

4,1,0,0.01,0.25,6.25
20

]

26

25

0"

43.2

0.2

3. Distributive

4, Commutative

5. Associative

460

6. Identity slements 7. Kdentity slements 8, Associative 9. 05 10. 2

11. 0.8 12. 0 13. 1 14, 02,3

Praclice, page 61

1. true 2. true 3. true 4. true

5. false 6. falss 7. false 8. true

9. false 10. true 11. true 12, false

13. 27 14. 1.2 15. 05 16. 1.48

7. 24 18. 30 19. a 20. a

21. 0 L 22. 0 23. 1 24. undefined

25. 0 26. m 27. 1 28. r

29. © 30. 4
" Review, page 61

1. 242 2. 210 . 3. 0.606 4, =5

5. =07 6. =400 7. 7 8. 5

9. 144 10. (kx4)-m 1. 213 12. 35

13. 4 . 14. 25

Test - Unit 2, page 62

1. 27 2. 125 LT 4. 36 5. 258
6. hundredths, 0.03 7. tenths0.3 8. tenthousandihs 0.0003

9. thousandths 0.003 10. ones3 11, 283 12. 0.9,1 13. 99.2,99
14. 25,2 16, 09,1 16. 7.776 17. 72.8828 18. 0.0798
19. 5376 20. 387 21. 0.4782 22. 0.057 23, 0.0695
24. 724 ! 25. 300 26. 5090 27. 70 28. 0.02
29. 4113 - 30. 2025 - 31. 0.002 736 32. 2.36 33. 125
34. 56,23 a5, 30 36. 24 " ar. s 38. 0.01
38. 503 40. 3 41. B 42 2 43. 1.3
" 44, true 45. falsg 46. B.3 a7, 7+83/4

Looklng Back — Estimation and Statlstics, page 63

1. a =70000 b. =200 2. 1960, 1950 3. 1982 and 1983

5. Range=21.8 Mean=5.9 6. 3.3peoplekm? - 7. Quebec and Alberta

Unit 3 - Integers

Exerclses, page 65

1. Above 2. Below 3. Above 4, Bolow 5. Below
6. Positive 7. Negative 8. Positive 9. Negative 10. Negative
1.1 I 13. D 14. B 15. 6

16. -1 17. -4 18. 3 19. 9 20. -24
21. 83 22. 10 23. 17 24. 99 25. <100



25. -350 27. 975 28. -9876 29. -3 30. -25

31, 12 32. -6 33. 32 34. -86
Practlce, page 66
1. No 2. Yes 3. No 4. No 5. Yes
6. -10°C 7. 16°C B. -20°C o, -53-1,1,357
10. -3,-2,-1,0,1,2,3 11. -6,-5,-4,-3, 2,-1,0,1,2
12. -4,-3,-2,-1,1,2,3,4, ILN.T,E,G,E,RS 13. 5 14. -39 15, 100
16. -54 17. 72 18. -184 19. 650 20. -1000
21. 908 22, 2002 23. 4,20 24. -6,-3,0 25. -1,-3,5 |
26, -4,-8,-12 27. -16m 28, %25 29. -5kg 30, -8°C
31. $4000 32, $85 33, 2°C 34. 6000 m 35. -4 min
Practice (cont’d.}, page 67
26, a. October-April, May-October b. April and May (or July and Nov.}
c. July,January d 9
Absolute Value, page 67
1. 7 2. 10 3. 9 4. 8 5. 17
6. 2 7. = 8 > 9. > 10. =
Exercises, page 68 : .
1. -12 2. 3 3. 4 4 B 5. 16
6. © 7. 6 B. 12 9, -8 10. 4
1. -3 12. 1 13. 1 14. < 15. >
16. > - 17T. < 18. > 18. >
20. {-12,9,-7,0,2,4, 16} 21, {11,-8,-2,0,1,3,6}
22. {-70,-60, -40, -10, 20, 40, 60} 23. {-100,-60, -50, 0, 10,70, B0}
24, 2,1 25 -1,4 26. -3,0,3 27. -8,-6,4
Practice, page 69
1. 2s-4° 2. > 3 > 4, > 5 >
6. > 7. = 8. 0>-3 9. > 10. 1>-4
11, -10<-B<-6 12. -1<0<1 13. -20<-5<0 14, 0 <2 <7 15, -16<-12<-8
16. 5<-3 <-1 17. -3,-2,-1,0,1 18. -2,-1,0,1,2 19, -4,-3,-2 20.0,1,2,3
21, -1,0,1,2,3,4,5,6 22 ...,-3,-2,-1,0 23, -1,0,1,2,3. 4, ...
24. 2,0,-2 25. 1,-1,-3 26. -21,-18,-15 27. 0,-5,-10
The Winner Is?, page 69
Race 1 Race 2 Race 3
1. Ann . i.Lois 1. Pam
2. Lois 2, Ann 2.Sus
3. Pam 3. Sue 3. Lois
4. Sue 4, Pam 4, Ann
Exerclses, page 70 )
1. 8+10-18 2. (-10)+{(-35)=45 3. 40+30=70 4, {36)+(24)=60 5 63+18=81
6. (-30)}+(-45)=-75 7. 154+36=>51,§51 gain :
8. (-33)+(-27)=-60,60loss 9. 18+ 9=27, 27 kggain
10. (—98)+(-45)--143.$143Ioss 11. €5
12. -115 13. -140 14. 37 15. 41 16. -28
Practice, page 71
1. 14 2. 23 3. 63 4, 55 5. 109 .
6. -54 7. 54 8. 49 9, -45 10. -23 E
11. -35 12. 107 13. 120 14, -165 15. 145
16. -27 17. 51 18. -40 19. -8 Co 20. -32
21. 19 22, -4 23, 18 24.. 57 . 25. 84
26. 36 27. 50 : '
28. a.14 + 28 = 42, $42 saved b. (-22)+(-95)=-117,$117spent

c. 04+35=35, $35saved
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29. a. 150+120-= 270, 270 pts. earned b. (-75)+ (40} + (-85) = 200, 200 pis. lost
©.  (-550)+{-1250) = -1800, 1800 pls. lost

30. a. (-20)+ (-35) = -55, 55°C loss b. 15+102=117,117°C gain
€ 92+ 115= 207, 207°C gain

Exerclses, page 72

1. 25,24,23,22 21,20 2. -25,-24,-23,.22 -21,-20
3. 20,18,16,14,12,10 4. -20,-18,-16,-14,-12,-10
§. 753113 6. 10,5,0,-5,-10,-15
Exercisas (cont'd.), page 73
7. -24,-21,-18,-15,-12,.9 B. -B0,-76,-72,-88, -64, -60
9. 32+(28)=4 10. {-72)+80=8
1. 12+28+(-28) =12 12, (-64)+32+32=0
13. 5+ (-5)+ 204 {-35)=-15 14. 12+ (-18) + (-8} = -15
15. Negative 16. Positive 17. Posilive 18. Negative 19. Zaro
20. Negative 21. 8 22, 3 23. 55 24. &
25. 9 26. -10 27. 0 28, -7 29. 8
30. -10 3. -150 32. 0 a3 n 34. 74
35. 14 3. 5 37. 35 38. 3 39. 25+(-17)=8
40. (-38)+24=-14 41. 12+(-8)=4 42, 118 +(-192)=-74
Practice, page 74
1. -11 2 0 3. 9g 4. -30 5. -139
6. -48 7. 3 8. &7 g 0 10. 0
11. 18 12. 1 13. -20 14, 0 15. 60
16. 32 17. 3 18. -372 18, -5 2. 5
21, 13 22. 49 23.. 60 24. -81 25, -2
26, -12 27. 1 28. 72,43,9,-20, -39, -57
29. 52,23, -5, -40, -62, -80 30. 166, 106, -14, -44, -64, -82
. N 32. 40
Maglc Squares, page 75

4 16|8 2({ 3[4 1{-11]3 1 915

6| 2|2 311141 113 (-7 3|-1]-5

4 (10]0 2(5 |0 9| 5 | -5 717 [-3

Yas Yes Yes
Stock Market, page 75
-10,+5,+30, 0, -10, +5
Exerclses, page 76
1. 1,0,-1,-2,-3,-4,-5 2. 10,0,-19,-20,-30, -40, -50
3. 30,10, -10,-30, -50, -70, <90 4. 50,25 0,-25, -50,-75, -100
5 321,0-,-2-3 6. 40,30,20,10,0,-10, -20
7. 30,20,10,0,-10, -20, -30 8. 321,0-1,-2-3
9. 20-30=-10 10. 5-20=-15
Practice, page 77
1. 20,10,0,-10, -20,-30,-40 2. 40,20,0,-20, -40, -60, -80
3. 321,0-1,23 4. 12,-12,0, -24, -36, -48, -60
5. =5 6. . =-10 7. =-20 8 .2 9. 4
10. 8 1. 29 12. -20 13. 3 14. 45
15. -56 . 16. 57 17. 4 18. -35 19. 22
20. -18 ) 21. 129 22. -58 23, -3°C 24, $560
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Revlew, page 77

1. 15 2. 20
6. < 7. -1<0
1. 20 12. 50
16. -18 17. -156
21. 14 22 .32
Exerclses, page 78

1. 0,1,2,3,45
3. 130,40,50,80,70,80
5, -21,-18,-15,-12,-9,-6

7. 3 8. -40
Exercises {cont’d.), page 79

12. -3 13.

17. 6,7,6 18. -5,3,-8,-5
22. 9 23. 17
27. -3 28. 7
32. 11 33. 20
a7. 30 38 -12
42. 40 43. -10
47. -8 ' 48. 0
51. -26,-3,9,2,-7,-13

53. 26,15,0,35,-1,30

55. 8,4,9,5

Practice, page 80

1. 3 2. 17
6. 61 7. 3
11. -110 12. 0
16. -2 17. 28
2., 2 22. 0
26. 296°C

Bafancing a Chequebook, page 80

a. S$100.85 $4.77,-$33.78, $186.22, $101.33, $166.33,
b. -$397.84,-5426.64,-$521.91, -$21.91, -$168.41, -593.41,

Readlng Graphs, page 81

1. Dec.6°C,Jan. 7°C, Fab. 7°C, Mar. 8°C
3. 9°C Warmar

5. 32°C Warmer

Exerclses, page 82

1. B8,4,0,-4,-8,-12 2. 8,4,0,-4,-8,-12
. 6. 2x(-15)=-30 7. 63
11, -36 12. -36
16. -500 17. -80
Practice, page 83

1. -30 2, 49
6. -600 7. 75
11. -660 12, 513
16. -96 17. 0
21. -80 22. -90
26. 0 27. 37
31. 0 32. 20
36. 392B.C.

Portiollo, page 83
$30 Profit, 500 + (-50) + (-700) + 180 =30

©opN

LU o

3,6,9,12,15,18

14
19. -

-4,-3,-2,-1,0,1
50, -40, -30, -20,-10,0
31 10.
2 15.
-3,-9,6,-3 20.
-1 25.
-4 30.
24 as.
21 40.
-1 45.
10 50.

. -2,-12,-14,-20,3,-16

. -15,-8,-14,-7
-1 4.
12 9.
19 14,
-28 19.
4 24.

$87.11, - $1.84 Overdraft
-$150.86, -$0.86 Overdrafl

-46
25«2
-45

Jan. 10°C, Feb. 12°C, Mar. 11°C, Apr. 12°C

7°C Colder
24°C Colder

8,4,0,-4,-8,-12
-63

. 56
., -270

-24
-88

. -56
. =105
. 55
. 3

. -12

4.

8,4,0,-4,-8,-12
32
-58

-600

. 80

. -16

-8

73

. -8<8

. 4,44

. -14
.7

15

. -16

4% (-10) = -40

. -32
. 45

-120

. 2000
. -30

. -25
. -B

-$54
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Exercises, page 84
1. -12,-6,0,6,12,18 2, -15,-10,-5,0,5,10 3, -200, -100, 0, 100, 200, 300

Exerclses (cont'd.), page 85
0

4. a 10 b. -100 c. -100 d. 100 e 1
f. g -1 h. 1
5. Positive Negative
+ -
- +
6. 24 7. 24 8. -24 8. 24 10. 40
1. -20 12, -20 13. 20 14, 72 15. -72
16. -72 17. 72 18. 150 19. -150 20. -150
21. 180 22, -84 23. 84 24 89 25, 89
26. 0 27. 0 28, -108 29. 108 30. 72
31. -72 J2. 44 33, -44 34. 0 35. 0
36. 135 37. 135 38. -200 39, -120 40, 144
41. -180 42. 270 43. -3000 44, -60 45, -24
46. 0 47. 30 48. B40 49. 1200
50. 0 -12 -24 -36 -48 -60 §1. 0 -18 -36 54 -72 -9p
0 -8 -16 -24 -32 40 0 -12 -24 38 48 60
0 -4 -8 12 18 20 0 -6 12 18 24 -30
0 0C 0 0 0 o 0 0 0 0 0 o
0 4 8 12 168 20 0 6 12 18 24 30
0 8 16 24 32 40 [¢] 12 24 36 48 60
0 12 24 36 48 60 0 18 368 54 72 90
Practice, page 86
1. -19 2, 99 30 4. 625 5 -143
g. -49 7. -360 8. 270 9. 84 10, -115
1. =720 12, 224 13. 198 14. -350 15. 0
16. -1050 17. 420 18. -7200 19. -128 20. 1500
21. a. 1 b, -1 e 1 d -1
22. a2, 4 b. -8 c. 16 d -32
23, a. 1 b, -1 c. 1 d -1
24 a, 4 ‘b. -8 c. 18 d -3
25, a. Numbaer of Sign of
Example Negative Factors Product
12 o] +
-12 1 -
12 2 +
-60 3 -
360 4 +
b. + e -
26. Rule:+2,x{-4),-22, 88, 90, -360 27. Rule:x3+(-4),-158, -160, -480, -484
28. Rule: double opposites, -18, -32, 32, 64 29. Rule: x5, + (-3}, -340, -343, -1715, 1718
30, Rule:x (-3), x4, 2592, -10 368, 31 104,124 46 31. Rule:+1,x(-2), 15, - 30, -29, 58
Negatlve Exponents, page 87
a. 300 b.. 003 c. 50000 d. 00005 e. 0.000008
f. 200000 g. 0.000007 h. 0.000 000 005 L. 3170 J- o002
k. 0.000001175 L~ 0.000000 000 956
- Scientiflc Notation, page 8 N
a. 3axiob b. 23x108 c. 5724x10 d 217x1010 8. 26x105m
f. 74x10%cm 9. 38x107mand75x107 m
Exercises, page 89 )
1. 2,14 2. -5,+15 3. 522 4 36+12=3 5 (-76)<(-4) =19
6. (84)+14<6 . 7. 132+(12)=-11 8, (160)+(-16)=10 9. (-450)+6=-75 10. 0+ (-45)=0
11. 90 +(-5)=-18 12. 0+21=0 13. 2 14. 2 15. 17
16. 14 17. 0 "18. -30 19. .5 .. 20. 33
21. 8 22. -24 2. 5 24 5 25. 12
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26. -5 27. -4 28. -19 29. 9 30. 20

31, -9 32. 1 3. 0 34. 127 35. -35
36. 8 37. 30 38. -64 39. -72 40. -2400
41, 112 42. 40 43, -75 44, -126 45. -90
46, 33 47. -96 48. 65 49. -200 50. 175
51. 152 52. 162 53. 180 54. -192
55. positive negative

+ -

- +

Practlce, page 90

1. b 2. 16 . 3. 0 4. -44 5. -12
6. -60 7. 1 8 -2 9. 13 10. -38
1. 7 12, 12 13. 7 14, -16 15. 5
16. -30 17 -2 18. 18 19. -15 20. 0
21. -19 22 12 23 16 24. -9 25 4
26. -5 27. -9 28. 5 29. 2 3(( -6
3. 7 32. 5 a3 -2 34. -6 35. 4
36. 24 37. -24 38. 12 39. 20 40. 3
41. 768 42, 2560 43. 7,0,-56,45,-1,15
44 -12,4,0,-8,-15,20 45, 10,-4,15,2, -60,12
Four of a Kind, page 91
a, A:-d_ 2 b, [A+(-N+(4)- 3

-4 4 -4 -4
e ((H-N)(H-(4= 4 d. {ﬂiﬁ.\_;_)(:&i = 5

ol

. (-_4)41:-4).-(-4), 6 b ) s 1 -7
9--_2):[—(-4)+(-4)1.s "-i+[—(4)+(-4)1=9
Maglc Multiplicatlon Squares, page -3
a. -36,3,96,18 b. Yes c. No d. -36,-24,-12,-18,-72
e Yos . No g. 6,108,9,27,18,12, 36, 3,54
Exerclses, page 92
1. Associative Property 2.  Commutative Property
3. Distributive Property 4. Identity Property
5. Opposites Property 6. Associative Property
7. ldentity Property 8. Commutative Property
9. (-37)+ (94 +(-163) 10. (-16)(-84)
1. (4){18+12) 12. 27 ((-50)(-40)) -
13. {103 (-10Y+ (10 (18) \
Practlce, page 93
1. n=58 2. n=23 3. n=-8 4. n=1 5. n=-16
6. n=115 7. -256 8. nm0 9. n=-38 10. n=4
11. 18 12. 142 13, -438 14. 62220 15. -350
16. 38 17. -21 18. -45 19, -1800 20. 1
21. -4 22. 1 23. 0
Ravlew, page 93
1. 12 2, 17 3. 48 4 -8 5 76
6. -176 7. -70 8. -150 8. 420 10. 1350
11. 500 12. -48 13. 29 14. 13 15. -5
16. 61 17. 2600 18. -423 19. 17
The Change-Slgn Key, page 94
a -717 b -3724 c. 101 d. 56 . -412
f. -19224 g. 1601 h. -69
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Calculating Equatlons, page 93

a m=37 b. r=-118 c. g=-322 d a=-3136 8. H-833
1. h=-86 g. w=-398 h. v=234 l. f--7684

FOR, NEXT, and STEP, page 95

1. {3,6,9,12) 2. (75,70, 65, 60, 55, 50, 45, 40, 35, 30}

3. {2,3,4,56,7,8) 4. {48, 44, 40, 36, 32, 28, 24}

5. {8,6,4,20,-2,-4,-6 -8 -10,-12, -14} 6. {-2,-4,-6 -8 10, -12)

7. FORL=-1TO-10STEP-23 8. FORA=34TO22STEF-3

9. FORM=1TO35STEPOS 10. Six "STAND UPS" one "NOW"

11. Ten numbers will be printed. Six of these wil! be difterent.

Test-Unit 3, page 96

1. 3 2, 18 3 34 - 4. 9 5. 50

6. -8C 7. 15°C 8. -20°C 9. > 10. <

11, > 12. 43 13. -37 14. -37 15. -100
16. -8 17. 10 18. -40 19. -5 20, -7

21. -36 22. 1 23. 29 24. -3 25. 21

26. ¢ 27. 18 28. 15 29. -10 30. -96
31. 66 32. -70 33. 0 34. -600 35. 240
36. -180 37. -10 38, 13 39. -3 40. 18

41, n=-9 42. n=-20 43. -$94 44. 39°C

Looking Back - Declmals, page 97

1. 18 . 625 231 S 4 32 5 7

6. Thousandths 7.  Hundredths 8. Hundred Thousandths 9. Ones
10. Ten Thousandths 11. 6,6.2 12. 4722, 4722.0 13. 87,865 14. 9,9.1
15. 4,44 16. 4.3797 17. 67.657 18. 0.06014 19. 3.2076
20. 10990 1. 0.027 22. 620000 23, 0.34 24, 0.00295
25. 0,0004 26, 46 375 000 27. 0.003108 28, 450 29, 13.0032
30. 0.225 31, 2646 32. 1.24 33. 0125 34. 0.056
35. 36.54 36. 99.6 37. 493 38. 53 39, 34

40. 17 411 42, 1 43, 27 44. Trus
45. True 46, 17 47. 8 48, 25 49. (3d+2)3
50. (1024 6%/ (23 4 1)

Unlt 4 - Problem Solving |

Exerclses, page 99

1. a. No b. 7 c. 063

2. Blarge $86.00, 2 medium $15.50, Total $101.50

Practice, paga 99

1. 39 min. 2. 2 3. B50s

4. a. 14-24,86,8 10, 12, 14,186, 18, 20, 22, 24,26, 23
c. 4-10,14,16,18
5. 6 (Forteams A, B, C, D, the games were: AB, AC, AD, BC, BD, CD)

Exerclses, page 100

1. Need number of oarsmen for Parsian ship.

Practice, page 101

1. a Second-rate ships

2 & 100

Exercises, pages 102
1. b (518x10+33)

466

b.

2

532 kg

d.

2,

b.
c.

216,18 e.

a. 21times b.

Third-rate ships
60

ao

¢, (5 em = 0.000 05 km, 0.000 05 x 1000 000) 3.

7—-4,6,8,10,14, 16,18
118

1400 times

Less than 6000 (5686)
40times

b, (1000 + 444 x 80)



practice, page 103
4. Estimate:

4. Estimate: 72+90= 08s 4.
5. Estimate: 20 million dollars
7. Estimate: 4 min.50s-3

& 000 000 000 L

min.508 =1 min, faster

World Record Jumps, page 103
{Classroom door — 2m)Long Jump: 4.51imes; Pole Vauit: 3 limes; High Jump: 1 2 times greater

Exerclses, page 104

4, =27sExact 27418
g =137000 Exact: 50 000 000365 = 136 086.3 (1897 was not a leap year)

Practica, page 105

4. =4h;Exact 3370/884 = 3.82h

3. Yes; $20-{(2x $4.75) + (3x 8275 = $2.25
$22.99) +{2% £7.99) +{3%
g =$7400; Exact: {483

4. =$170 Exact: (5%

Computar Sclentlfic Notation, page 105
3

a 8795 E+09
1. 254E- 13

Exerclses, page 106
Original Problem
1

479001 600

0.000 00O 000 005

ctice, page 107
500 000
-8l

2, Estimate: 3000 digits
Estimate: 15 % 4=0608
6. Estimate: 1000+ 10 =

{or 1 min.}
100

2. =Bmin Exact: 409.012/60 = 8.2 min,

th
b, 3.041 72E+14 c. 6.734E-09

Simpler Problem

ax9=6

9x9)19-72 @
919r9x9=656 @
9x9x9x9x9=5904©
ox1&=2

3X2X1=5
Ax3x2x1=24

05 005 0.005

9, 0.000000 008 3 6

ncy Queries, page 107

10017 000.00

sas, page 108
in Problem

ges, page 1

L]

ge 110

jogs, & rabbits, 3 hamslers 2.

324,01 shillings c. 7.84rupees

Subproblem
0.2304 km
&5

A27 .48

23°C coider in Tuktoyakiuk (-55°C)

104 X
“7: 'pM000 = 300, 300 X 4.2 = 1260, 1260 years
<1000 = 31 367000 Lid, 31 367000+ 24+ 60 =21782.639 Ymin.

09 .
b. 68.2kg heaviar

865

2. =%270 noo; Exact: 29

$1.19)+ §36.75 = 317125
5 x §2.15) + (3120 x $1.95)] - $9075 = $7404.25

d.

562 (3714 + $1.93) = %268 127.34

1.764 2938 E-04 ® 2648BE + 16

496 5. 16

. 66881 pesetas

4,586 min.

467




Pracllce, Page 111 )

1. 11 poodies, 19 collies, 13 bulldogs, 15 daimations

3. Wed, Mon,, Tuss,, Thurs,, Fri .

5. History: 2, Geography: 2, Sports and Leisure: 2, An and Literature: 6, Enta

Tunnal Vislon, page 111

Revlew, Page 112

Exerclsas, Page 118

468

2 3525
8th day

4.
fMainment: g, Science and Nature: 4

1. 1onioningo s 2. 11 3. Answers vary 4. 6805H 5. B8kmm
6. about2ia km (198 4 15) 7. @ 59.8 b. 71
Review (oont'd.), page 113
B. =161 barrels, (100+54 1)-(1000+29) .9 3828 800 words, (10 x Ix8x 7x6x5x4x3x2x 1)
10. b, (7.5 x 52) 1. 729 hens
12. $13151 808.00 (14 150 X2160x 0.43) 13. 24 black checkars inside, 24 rgq checkars Outside
Test~ Unp 4, paga 114
1. 2600, 1985 = 4585 years 2, p, (18 800+ 100)x 12 5
3 23and s 13)
4 b. Kilimanjaro. Misti o about 10 CN lowers (6000 .. 600 10)
5. =49.5h, 40x 98, (9.5x14.70), ¢531 g5
6.
8 sunfish, 3 trout, 7 perch
Looklng Back —Integers, Page 115
1. 25 2 .11 3 2 4. 19 5 75
6. Colder 7. Colder 8. Warmer 9 1--g 10. 0> 2
11, -12> 18 12, 37 13, 8.9 14. 19 15. =& .
16. -23 17. 20 18. 10 19. 1 20, -
. 13 22 a4 23 3 24. 40 25. 7'
2. 15 27. g 28. 14 29. 12 30 &
31. 18 32, .75 33. 1000 34. 108 ar
36. 580 37. -18p 38. 1320 39. . 4 QJ)'
a. .7 42, 4 q e
46. Nothing #
el'o,-oﬁ
Unit 5 - Computer Literacy 7 MQ'
7
Exerclses, Page 117 J ;‘! \3!9.;'"
1. ac : Py
fq_-_-
2 To keap student records. To make studant feports cards, B,
23 To Prepars information sheets for the student body, 7 ’f-‘rfoo
4. Banking Services, gracery checkout, utility bifs, g 36‘754:‘.:
g %00, -
Practice, Page 117 3 35'3,0
1 adoerf g, 4%,/’ ‘
2 a wog processor b.  tecord of stock 4 o v,
C.  Video games d. " criminal recrds -6‘5‘,”.?’9,-’
8. keep records of accounts f. Patients’ recorgs. e, 9
3 dishwasher, clock, washer, dryer, radip Iq Sog b
G 2
L 2,

Ay



ROM holds permanent data; RAM holds temporary data.

3.
4. CPU (Central Processing Unit)
5

2. H=01001000, E=01000101,L=01001100, P =01010 000, = 00 100 001

Exerclsas, page 124

a. O b. O c.
1. 1o .
6. They adapt and convey signals. 7.
Practice, page 119
1. & keyboard b, CPU c.
2. Input/Output
3. a Interace b. CPU c.
- 1. RAM g- CPU h.
Computer Check, page 11
1. b 2 3.
6. h 7. a B.
Exerclsas, page 121
1. Bits, Bytes 2. Disks, magnetic tapes
5 4 6. 16 7.
10. 64 11. 256 12
15. 1,1 16. 1,0,0 17.
20. 1,0,0,0 21. 1,0,0,1 22,
25. 13 26. 14 27.
30. 27 3. 28 32,
35. 62 36. 64 37.
40. 128 41, 171 42,
45, 1011 46. 110 47.
50. 10111 51. 11110 52.
55. 110010 56. 111100 57.
60. 1111000 61. 10000010 62.
65. thrée 66. five 67.
70. 255
Practice, page 122
1. 5 : 2. 6 3.
6. 21 7. 25 8.
- 11, 89 12, 170 13.
-16. 182 17. 1001 18.
21, 101010 22. 100111 23.
26. 10001000 27. 11010010 28.
31. 11101 00C 32, 1111111 33.
35. 8192, 524 288 36, 1024
39. 5
Hexadecimal Numbers, page 123
a. 10 b. 14 c.
f. 18 g- 58 h.
Binary to Hexadecimal (Hex), page 123
1. a A b. 3 c.

1. 64 2560 2 +256/4 =64 3.
6. MAPLE 7. MAPLE 8.
LEAF LEAF

RAM

ROM

Printer
disk

1100100
10001 010
saven

9

53

173

11
111001
10011011

1024, 2048, 4096, 8192,
37. 205,13107

30
243

76

64
2560

M
AAA
PPPPP
LLL

E

14,
18.
24,

29

d.
L
d.

4.

lie]

Printer

CPU
modem

. 10010110
. sight

1"

19

221

1101
111101
10100 111

16384
38.

a. 3,30

64
277

95

MAPLE LEAF

MAPLE LEAF
MAPLE LEAF
MAPLE LEAF

.(in1i nite loop)

10.
15.

25.
. 11110101
. 65536

Input Davi

@

. 1110000
. 1106100
. 15

8

45

129

1111
1100011

11

698

97

MAPLE

ca

LEAF

469



Prac!lce page 125

7.
9.
1

1.

MATH ISGREAT. 2.

225
247
504
225
247

iinhnite loop)

It would create a loop.
An error message would be displayed.

it would print the statement and not the answer.

Baslc Qutput, page 125

10 PRINT "THE MARITIMES ARE:"
20 PRINT "NEW BRUNSWICK"

30 PRINT "NOVA SCOTIA"

40 PRINT "PRINCE EDWARD ISLAND"
50 END

10 PRINT TAB{1)"CCC"

20 PRINT TAB( 2)"AAA"

30 PRINT TAB({ 3)"NNN"

40 PRINT TAB( 4)"AAA

50 PRINT TAB( 5"DDD"

60 PRINT TAB{ 6)"AAA"

70END

Exorclsas, page 127

1.
3.

10.
12

108 2. 1303
CANADA
CANADA
CANADA

IN WHAT YEAR WERE YOU BORN?
764

WHAT YEAR IS IT NOW?

784

MATH IS GREAT. 3.

MATH 4. 504 5. 582073 = 1940
1S 1024/8 = 128
GREAT. 1024/8 = 128
GREAT. 1024/8 = 128
GREAT. :
: {infinita loop)
(infinite loop)

8. 5820/3 = 1940 would be included inthe lcop
10. MATHIS GREAT. (No space betwesn MATH and 18)

2. 10PRINT "HI THEREI"

20GOTO 10
30END

4 C=18 S. 6. 755
1428

683

RRa =N

128
256
512
1024

THIS YEAR YOU ARE OR WILL BE 20 YEARS OLD.-

Zwould equal 33
It would print 655

Spaces in belween answers would be omitted.

Practice, page 128

1.

Calt ol o

10 .5

201

312

An error message would be printad.

9. Cwould equal 0.99
11. The program would cease to be an infinite loop.

Since C is not defined earlier in the program, it would terminate lmmadlalely

TYPE YOUR AGE.

718

OLD ENCUGH TO DRIVE.

55 GOTC 10

60 END

a. 10 b. .6

f. 396 g- 4396
SOLETZ=X3$Y

60 PRINT "THE PRODUCT OF X AND Y IS * Z

470

5. Lessthanis

c. 40 d 04 8. 400

9. 70GOTO10
80 END



Practlce (cont'd.}, page 128
10. |PR#0O

1&

10 PRINT "ENTER A NUMBER"

20 INPUT X

301=1

40LETZ=X$I

50 Iml+1

60 PRINT "A MULTIPLE OF "X IS5 %.Z
70GOTO 40

80END

Practice {con'i.), page 129
11. change: 10 INPUT "ENTER A NUMBER FOR X. "X
change: 30 INPUT "ENTER ANUMBERFOR Y. Y

Reading Data, page 128

1. HKterminates the loop. All other values used are positive. The negative value is distincl.

2 a C b. BA

3. Program Achange: 10 LET Z = 85; changs: 30 LETZ =104
Program B change: 50 DATA 65,104,-1; change: 80 END

4. 10PRINT "SOME ODD NUMBERS ARE:" 6. 10 PRINT "SOME ODD NUMBERS ARE:"
20 READ X 20 INPUT X
30 IF X =-1 THEN GOTO 80 30 IF X = -1 THEN GOTO 80
SO PRINT X 50 PRINT X
60 GOTO 20 ' 60 GOTO 20
70DATA1,3,5,7,9,11,13,1 80 END
80END Input1,3,5,7,9,11,13

Exerclses, page 130

FOR ... NEXT 2. The same number would be printed an infinite number of times.
The double of each value would be printad. 4. No number would be printed. The program would end immediately.
The numbers used wouldbe 1,3,5,7,9.

RADAR 7. RADARRADARRADARRADARRADAR 8.
RADAR .
RADAR

RADAR

RADAR

;oL

9.

RWN -
bW =

Practice, page 131
1. 10FORM=1TO4 2. 10PRINT "COUNT BY TWOS." 3. "WHEREIS" 4. 1K
30 PRINTM 20FORP=0TO24STEP2
40 NEXTM 40PRINTP
60 END B0NEXTP
70END

Nested Loops, page 131
1. 10FORI=1TO3 2. 10FORI=1TO10
20FORJ=1T705 20 PRINT "MY NAME 1S
30 PRINTI 30FORJ=1TO3
40 NEXTJ 40 PRINT "PAT"
S0 NEXTI SONEXTJ
60 END B0NEXT |
70END

Flow Charts, page 132
1. 10 INPUT"ENTER THE SIZE OF THE ANGLE "A 2, 10INPUT"ENTER THE NUMERATOR"N
20 IF A = 90 THEN PRINT "RIGHT ANGLE™ GOTO 10 20 INPUT "ENTER THE DENOMINATOR"™;D
20 IF A < 90 THEN PRINT "ACUTE ANGLE": GOTO 10 30IFD<»8 THENGOTO 10
40 PRINT "OBTUSE ANGLE." A0LETX=N/D
50 GOTC 10 50 PRINT "THE DECIMAL EQUIVALENT IS "X
8¢ GOTO 10
JOEND

471




Revlew, page 133

1.

Money machines, lottery tickets, airline reservations

2. Kayboard, joystick, disk drive, light pen, tape drive, modem, hard drive
3. Monitor, printer, disk drive, tape drive, modem, hard drive
4, a. 9 b, 25 c. 4 d 245
5. a. 100110 b. 1001011 c. 10011101 d. 11001000
6. a. HURRAH! b. FROM SEA TO :
HURRAH! SEA
HURRAH! FROM SEA TO
HURRAH! SEA
: FROM SEA TO
{Infinite loop) SEA .
(Infinite loop)
c¢. THEQUOTIENTOF 10 AND S IS EQUAL TO 2 :
d 8 . WHATIS YOUR WEEKLY ALLOWANCE? . F=6
16 710 F*2=36
24 YOU RECEIVE 520 DOLLARS PER YEAR, F=9 -
32 F*2 = 81.000 000 1
40 g. X=0 h. T=3 T-8=-5
48 Y=0 T+(8)=5  T§(8)=-24
56 THIS CAN GO ON AND ONI T=6 T-8=-2
64 X=2 T+(8)=-2  T$(8)=-48
72 Yei 4 T=9 T-8=1
80 THIS CAN GO ON AND ON| 7 T+(-8)=1 T$(-8)=-72
ag The program ends when X > 20. T=12 T-8=4
96 - T+{(8)=4  T§(8)=-96
' : (and so on)
Test—Unlt 5, page 134
1. Bank teller, cashier 2. Storing information, calculating, entertainment
3. CPU 4. ROM - permanent memory; RAM ~ temporary memory
5. Inbits
6. a 9 b. 10 c. 22 d 4 8. 54
f. 8% g 206 h. 103
7. a 1M b. 1010 c. 10000 d. 100011 8. 1001010
. 11001190 g. 10101000 h. 11110000
8. a 555 : k. 10TIMES3=30 d. AREA=36 f. 10
555 AREA =684 20
565 AREA = 196 30
555 ¢ 1 AREA = 289 40
555 3 AREA = 576 50
555 2 60
* 555 : o 790 70
555 1 230 80
13 R/S = 66.666 6667% 3.30
NO MORE. 110
120
9. 10FORI=1TOS 133
20 PRINT "NAME" 150
30 NEXTI 160
40 END 170
: 180
10. 10INPUT "ENTER THE WIDTH OF THE RECTANGLE";X 190
20 INPUT "ENTER THE LENGTH OF THE RECTANGLE";Y 200

30P=2$(X+Y)
40 PRINT "THE PERIMTER OF THE RECTANGLE IS ~P
50END
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LookIng Back — Problem Solving, page 135 I
1. about 4 min. (459 + 120 = 3.825) 2. d 3. $10249 ({13899 + 850 — 4500) :
4, a. Lless b. No c. 7617.5mm7 (10270 + 8990 + 6680 + 4550/4)] i
5. 35 (from 10:00 to 12:00} .
6, Estimate: (4 x 70) + 3x 40 = $400, Exact answoer: (4 x 67.95) + (3x 39.25) = $389.55 !

Unlt 6 - Number Theory and Fractions

Exetclsas, page 137

1. a. Yes b. Yes c. Yes d. No . Yes L:
f. No g- No i
2 a 25 b. 4,14,28 c. 1,367,14,21,42 d. 1,2,4,6,12,22,44,132 v
3. a 1,2,510,25,50 b. 1.2.3,4,5.6,10,12,15,20.30,60 i
e {1,3,9,17,51,153} d. 11,2 4,5,8,10,20,25, 40,50, 100, 200} !
o. {1,101} f. {1,3,5,9,15,25,45,75, 225} o L
Practice, page 137 ‘
1. a. Yes b. No c. Yes d. No a. Yes
f. Yes g. No h. No : '
2. a [1,2,3,5.6,9,10.15,18,30,45,90} b. {1.2.4,8.16,32]
c. -{1,2,19,38} d. (1,3.5,15,25,75) :
e. {1,2,5,10,11,22,55,110) f. {1,2,3,6,7,14,21,42} o
g. [1,317,51) h. {1,3,5,9,15,27,45, 135 T
L. {1,103} . 11,2,3,4,6,89,12,16,18.24, 36, 48, 72, 144) :
k. {1,2,5,10, 25,50, 125, 250} . {1.3,11,33,121,3863} |

3. 1x$12,2x$6,3x$4.4x$3,6x$2,121$1 ;
4, 1x36,36x1,2)(18,1Bx2,3x12,12x3,4x9,9x4,6x5=9ways ‘
5. $3.00 if 19 flats were planted. §1.00 if 57 flats were planted.

Exerclses, page 138

1. a {1,1}P b. {1,3,9C ¢ {1,3,518C d. (1. 19}P e. [1.41}P
£ {1,3,19,571C g¢. {1.3,23,69C h. {1,100 P

2. a {235 b. {2,11)

3, a 2x32 b. 3¢ c. 2x32x5 d. 22x5x7 e. x5
f. 22423 g. 24x7 h. 5%2x23

Practice, page 138 ’
{2,3,5,7,11,13,17,19, 23,29, 31,37, 41, 43, 47, 53,59, 61,87, 71,73, 79, 83, 89, 97}

1. a.
b, 2 c. It has only one factor
d. 3.5',5,7;11,13;17,19;29,31;41,43;59,61;71,73
2. a 22x5° b. 2x3x5 e 5x1 d. 2x3x7 o. 24x5
"t 5x29. g. & h. 2x5x19 I 22x41 27
k. 22xaxs? L 2x7x11 m. 24x32 n. 2x5° o 112
p. 22x72 q 24xs? r. 52x189 5. 23xs3 t. 2°x3?
3. a x=2 b. x=3 c. x=3 d x=5 e x=41
1. x=89
4 8 {1,2.3,4,67,12,14,21,28,42 84} b. {1,357, 15 21,35, 108}
e {1,2.7,14,49,98)
Divisiblllty by 8 and 25, page 139
2., 3., and 5. are evenly divisible by 8 1., 3., 4., 6. and 8. are evenly divisible by 25
Exarclses, page 140 i
1. a 5,5 b. 9,9 c. 7.7 d. 10,10 e 8,8
.11 2.a,¢cdl :
3. a 14 b. 16 & c. 25 d. 30 e. 36

Practlce, page 141
1. a 45,e. 22,9 175, 39

2. a 24x3 b. 3%+81-=9 c. 3 d. 24x52,4400=20
o, 28x32 J576=24 . 22x3x11 g. 2x33xs
h. 24x54 410000=100 . 32x19 J. 22x54 42500 =50
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3. a 60m b. 40m
4 .a 21 b. 11

f. 42 g. 55
Negative Square Roots, page 141
a -10 b. -11
. -100 g. -30
k. -1000 . 22

Exerclses, page 142
1. {1,57,35},(1,2,4,5,8, 10,20, 40}, 5
4 4 5

s . 18
8. 2x2x2x3,2x2x3x5,12
12. 2 13. 7
Practice, page 143

1. 35 2. 12
6. 35 71
M. 1 12. 4

The Euclidlan Algorithm, page 143
1. 42 2. 18

Exercises, page 144
1. {60,120, 180, 240, ...}, {80, 160, 240, ..}, 240

4 28 5. 36

9. 2x2x2x3,2x2x5,120

12, 912 13. 2808
Practice, page 145

1. 30 2. 80

6. 132 7. &4

11, 4590 12. 76230
16. &0 17. 420
21. 7,490 22. 70, 4900
Relatlvely Prime Numbers, page 145
1. 24 2, 45

6. 1,6 7. 1,20

Multiply the two numbers by each other,

Exerclses, page 146
. 3 ¢

2 1
6. &/20 7. 5
Practice, page 147
1. 6 2 6
6. 12 7. 7
11. 36 - 12. 18
16. 24 17. 12
25. 2/ 26, 273
30. 5/ 31. 8
Musieal Interlude, page 147
a 2 b. 4
. 2 g. 16
k. 3beats l.  4beats
Exercisaes, page 148
1. 4,45 2. 12,13
6. 23 7. 27
11. 34 12. )3/5
16. 120 17. /85
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o

10.
14.

afw

70m

32

-20
14

11.3,5,18},{1,5, 25}, {1,
4 7

~a

2,5,10},5
2

2X2x3x3,2x3x3,3x3x3,9

14

13
4

. 14

120

. 3x3,3x5,56x5,225

60
180

. 315
. 600
. 4205

120
1,58

25,3/4
an

. 2011
. 6/13

15.

4,
9.
1

2,
7.

14.
19,

4.

150

1
10
35cmx35em

18

60
210

150
210

. 168
. 8,96
. 9:00P.M.

210
1,132

. 35

3/8
1/5
51

33
1000

" 10
. 100

¢deg

B0
300

. 450

364

. 23030
. 360

. 8,360
. 60

350

. 1,420

. 13
. 27
. 36
. 5/8

10 beats

. 53
.37



Practice, page 149

1. 37 2 5 3. 35 4. 473 5 145

6. 89 7. 53 8. 23 9. 23 10. 2/5

11, 2077 12. 35 13. 3/8 14, 1073 15. 5/8

16. 10 17. 28 18. 36 19. 8 20. 64

21. 80 22. &4 23. 900

Revlew, page 149 ’

1. {1,24,5,8,10, 20, 40} 2. {1,3,7.9,21,83}

3. {1,2,3,4,6,7,12,14,21,28, 42, 84} 4. {1,2,3.4,5.6.10.12.15,20, 25,30, 50, 60, 75, 100, 150, 300}
5. [1,2,3,4,6,8,9, 12 16,18,24,32,36,48, 72, 96, 144, 268} 6. Prime 7. Composite
8. Composite 8. Prime 10. Composite 11. 3x3x5 12. 2x2x3x%5
13. 3x3x7 14. 2x2x2x5x5%5 15. 2x2x2x3x3x5 16 6 17. 9

18. 15 19. 100 20. 21 21. 8 22. 15
231 24. 24 25. 70 26. 105 27. 120

28. 120 29. 900 30. 210 31. 64 32. 7

33. 375 34. 5 35. 21 36. 34 37. 43

38. 59 39. 1277 40, 5/8

Exerclses, page 150

1. 2-1/4,9/4 2. 223,83 3. 512 4. 4-3/4 5 334

6. 556 7. 10-310 8. 2-1/4 8 2172 10. 235
11. 1-3/4 12, 4-3/8 13. 7-13 14, 6-1/2 15. 3-35
16. 1-513 17. 2-9726 18. 94 19. 13/8 20. 167

21. 195 22. 10740 23, 731 24. 19/4 25. 1673

26. 595 27. 39/4

Practice, page 151

1. 225 2. 4172 3. 412 4 2-1/8 5. 257

6. 2-45 7. 194 8. 213 9. 4-1/6 10. 4-16721
11. 1-5/16 12. 516 13. 1-3/4 14. B-2/25 15. 4-1/2
16. ' 15/4 17. 17/6 18. 3177 19. 23/4 20. 2373
21,172 22, 73/20 23. 191/15 24, 1107 25. 11/4

26. 77110 27. 7719 28. 100/11 29, 14710 30, 837/100

31. 2-1/2bags 32. 2-1/2 cakes

Calculator Changes, page 151

1. 44.5/8 2. 15-6/16,=15-3/8 3. 24-15/40,=24-38 4. 2-61/125 5. 7-29/64
6. 12-28/40,=12-710

Exorcises, page 152

1. > 2 > 3. > 4 < 8 >

6. 9,8 > 7. 43> 8. 45,35 > 9. 34,42, < 10, >

1. < 12. < 13. < 14. > ) 15. <

16. < 17. > 18. {6/20,10/20, 15/20, 16/20}

19. {4/12,812,9/12,1012} 20. {5/30,10/30, 12/30, 15/30}

21. {6/12,7/12,812,912, 16/12) 22. {15/60, 18/60, 30/60, 36/60, 40/60}

23. |25/40, 30/40, 36740, 50/40, 60/40}

Practice, page 133

1. < ., < 3 < 4 <« 5 <«
[ T ' 7. < 8. > 9. <« 10. <

11, < 12, < 13. > 14. < 18. <

16. > 17. < 18, < 19. < 20. <

13. {1/6,1/3,1/2, 2/3} 14. {310, 2/5, 1/2, 4/5}

15. {1/6,1/2,3/5,2/3, 1-1/3, 5/3} 16. {1/4,1/2, 213, 5/6)

17. |2/3,5/6,7/8,1-1/4, 6/4} 18. {7/15, 4/5,5/6,9/10,1-1110, 6/5)

21, First Table




Circle Graphs, page 153

Others 15/360, Baseball 75/360, Hockey 120/360. Tennis 55/360, Swimming 50/360, Football 45/360.

Woe want to make a circle graph, and thers are 360°in a circle,
Like other sports: 1/24

Exerclses, page 154
1. a.

=75/100=0.75 b. =35/100=0.35
C. =35/10=35 d. =58/10=58
8. =14/100=0.14 1. =36/1000 = 0.036
g. =625/1000 =0.625 h. =1375/1000 = 1.375
L =1868/1000=0.168 | =886100=6.86
2. a. 025 b. 05 e. 0.75 d.
f. 05 g 1 h. 15 I
k. 0125 . 025 m. 0.375 n
3. a =014583 b. =0.2857714 _
4. a. 018 b. 03 c. 08 d
£ o3 g. 032 h. 03 I
- Practice, page 155 .
1. 079 2. 63 3. 0755 4,
6. 07 7. 0625 B. 0.21875 9.
11. 05625 12. 0.38 13.. 0.65 14,
16. 0.580 17. 0.22 18. 0.75 19.
21 > 22 = 23 < 24,

Computer Converslon, page 155
1. 30,7,4,20,7,2

2. Nisthe numberbeing divided, D is the divisor, A is the number of times the divisor will fit in the numerator

{(whola number}, is the number of decimal places Ais.

Exerclsaes, page 156
1.

0.08
0.04
0243
0527

2,1/5 2. 710 3. 175 =325 4. 645
6. 41550 7. 24/25 8. 5-6/25 9. 375,38
11. 32-1/500 12, 1-9/200 13. 2463 14, 1/5000
16. 1/200 17. 1 18. 2 19. 13
21. 1 22 2 23. 1733 24, 4/99
26, 2 27. 2 28. 4
Practice, page 157 :
1. 35 2. 15 3. 8-3/20 4. 7/20
6. 4/25 7. 3250 8. 11/200 9. 4-111250
11. 2-7/8 12. 1-1/80 13. 119550 14, 2.33/50
16. 12-5/8 17. 411100 18. 9-7/20 19. 1/400
21. 113 22. 213 23. 719 : 24. 5/9
26, 5/99 27. 7199 28. 10/99 29, 14/98
3. a, 0.03125 0.015625,0.007 8125 b. 1/2,1/4,1/8, 118, 1/32, 1/64, 1128
€. 1/256,1/512, 11024 (10) ’

32, o001 a. 3/999 b. 23/999 c. 101/999
33. 0.0007 a.  4/9999 b. 28/999%9 ¢ 753/9999
Terminations, page 157
1. 05=1/2 2. 025=1/4 3. 02=15 4, 06=3/5
Exerclses, page 158
1. {1,2,3579 2. (5] 3. {1.234567 4 ©
6. {2 7. {1,23,456,7,6 8 O : 8. (5)
Practice, page 158
1. a, {11,22 33, 44, 55, 66, 77,88,99, 110,121, 132, 143, 154, 185}

b. {1,2,3.4.5,6.10.12,15.20.30.60] c. {7,11,13,17, 19 d ©
o. (273, 46,6/, 8/12, 10115, 12/18) . {1.2.3,6,7,14,21,42}

9. {410,510, 6/10, 7/10, 8/10} h. {1,4,2,85,7
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10.
15.
. 32
25,

10.
15.
20,
. 29
30.

1.25

5
0.625

o
i
o

0.002
03
0.64

Darcy {0.357) '

45, 9720

. 327/500
. 4-1/400

6/25
1/2500
35-7/100
32-151/200

23799

303/999
1-4762/9999

0.3 =310

{2,4,5,6, 9}
2,5 9



8,27, 54}
4

m~ppFmRgF o

18, 24,27, 54)
.18, 24, 27,54} h.
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A Set Solutlon, page 139
trumpet: B; guitar: 2; piano: 5

Computer Factor Palrs, page 160
4. 1-193,1-529

9. 23— 23, Thafactors listed in the output should show 2 numbers that are the same.

3. a 28 b, 42 c.
e. 39 . 48

The Factorial Symbol, page 160
a. 24(4x3x2x1) b. 24 c.
e. 120(5x4x3x2x1)

Review, page 161 :
1-1/2 3.

1. 123 ,

6. 338 7. 635 8.
“q41. 29/8 12. 5/4 13
16. 7/6 17. 11/2 18
2. < 22. < T 23
2. = 27. > 28,
3. > 32 < 33
36. 04 37. 0.875 a8
41. 21 42. 46 43
46, 1-31/50 47. 1/8 48
51. 2-1/3 52. 1730

53. {1,2,3,4,6,8,12 16,24, 48) 54,
55. {1,2,3,4,6,8,9, 12,16, 18, 24, 36, 48} 56

. {2,3,5,7,11,13}
. {15,130, 45, 60, 75, 90, 105}

Test - Unlt 6, page 162

86 d. notasquare number
120 ’ d. 720
1175 4. 1-1/72 5. 8122
2-1/8 9. 1172 10. 3
. 11/5 14. 31/6 15. 196/9
. 1173 19. 773 20, 112
. < 24, < 25. »
. = 29. > _ 30. >
. 0.85 34. 027 35, 08
. 3.625 39, 2.83 40. 53
. 2/5 44. 1-3/5 45. 19/50
. 2-3/8 49. 13 50. 273

. {1,2,3,4,6,9,12, 18, 36)
. [1,2,3,4.6,12}
. {576, 10112, 15/18}

1. {1,3,5,15) 2. {1,2 3,5.6,9, 10, 15, 18,30, 45, 90}
3. {1,2,3,4,612 13, 26, 39, 52, 78, 156} 4, {1,2,3,4,56,10,12 15, 20, 25, 30, 50, 60, 75, 160, 150, 300}
5. Prime 6. Composile 7. Prime 8. Composite 9. 2x3x5x5
10. 2x2x2x2x13 11. 2x3x3x5x7 12, 2x2x2x5x5x5 13. 4 14. 15
15. 31 16. 100 17. 9 18. 22 19. 1
20. 14 21. 144 22. 475 23. 480 24. 210
25. 135 26. 4 27. 3 . 28. 360 28. 910
30. 37 3. 25 '32. 3B 33. 31/8 34. 4-7/10
35. 4-22/25 36, 44-8/25 37. 2677 38. 873 39. 1589
40. 84/5 4. < 42. > 43. <__ 44, >
45, 0.418 a5, 3.8 47. 1.3125 48. 042 49, 13720
50. 7110 51. 1/8 52. 173
Looking Back — Computer Literacy, page 163
1. To planomstudemstimatablas;As ateaching device. © 2. Monitor, Printer
3 a 3 b. 5 c. 11 d. 15 a. 22
f. 56 g. 204 h. 195 i
4, a 111 b. 1100 c. 10000 d. 11011 e. 100110
f. 1011110 g 10011011 h, 11111111
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5 1 6. 0.01 7. Answoer varies with input.
2 1 a. THE SECOND FRACTION IS BIGGER!!
3 100
4 10000
5 1000 000 b. 1200GOTO 200
: 1300 END
(infinite loop) :
8. 10FORODD=1111 TO 1143 STEP 2
20 PRINTODD
30 NEXT ODD
40 END
(Answors vary)

Unlt 7 — Operations with Ratlonal Numbers

Exerclses, page 165
1. 15

2. 524 3. 8 4. 16

6. 32 7 19 8. 219 9. 13
11. 1/4 12. 253 =8-1/3 13. 15 14. 103 =3-123
Practice, page 165

1. 15732 2. 19 3. 108=313 4. 310
6. 1/28 7. 5M4 8. 4 9. 39
1. 15/4=3-314 12. 30 13. 173 14. 1/8
16. 1/6 17. 14 18. 2/9 19. 3

21. 1/2 ot the bottle 22. 9points 23. 1/2of an hour

Exerclses, page 166

1. 7 . 2. 14-1/4 3. 24 4. 1916
6. 1113 7. 1025 8. 31273 . 9. 1.7/8
1. 2-1/10 12. 2117 13. 18173 ’ 14. 26-8/9
16. 2313 17. 2-13/28 18. 30 19. 10-5/7
21. 10 22. 17-13 23. 8-13

Practice, page 167

1. 8144 2. 158 3. 1323 -4, 213116
6. 5-2/15 7. 16-1/4 8 11 9. 123
1. 2313 12. 6-1/4 13. 25 14, &-1/4
16. 13-4/7 17. 39-7112 18. 16-1/2 19. 7-1/6
21, 48-155 22, 9-173 lemons 23. 11 min. 24. 12172 hours
A Delicate Balancs, page 167

19.3g,9g,27g,81g
Ex-erf:lses. page 168

1. 28 2. 18 3. 36 4. 30

6. 1-2/11 7. 1172 8. 1-1/4 9. 112
11. 1-7/12\ 12. 17724 13. 1-25/36 14. 273
16, 37 17. 155 18. 14 19, 7/20
21. 112 .

Practice, page 169

1. 45 2. 458 3. 7/9 4. 213
6. 1172 7. 1-1/2 8. 1 9. 512
1. 1-1/6 12. 1-1/6 13. 7/12 14. 1-1/10
16. 1-9/20 17. 1-5/24 18, 1-7112 19, 14/15
21. 255 22, 1/2 23 23 24, 1/6
26. 1/6 27. 1/8 28. 172 29. 1112
31, 512 A 32. 724 33. 1/20 34. 17730
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. 2115
. 12

6-2/3

. 21-1/4

12

. 18-3/8

. 5-1/3

. 7125

. 3-39/40 hours

40

. 1112

. 1/8

1173

. 910
. 1-1/40
. 29/30

. 1/8
. 815
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36. 11730 37. /6 38. 1/8 39. 13724 40. 718
41. 25/42 42, 1/8 43. 19 44, 47/60 45. 5/72
46. 8-1/6cans 47. 7/8
Pattern Predictions, page 169
Greatest number of pieces: 7, 1 1; 10 straight culs: 56
3cuts, 4 cuts
7 piecas 11 pieces
Exerclses, page 170
1. 36 2. 40 3. 20 4. 60 5. 30
6. B-173 7. 415 8. 10172 9. 9-3/4 10. 7-5/6
11. 5.5,5,3,5=3-1/3 12 6,76, 7=2-3/5 13. 5143 14. 1535 15. 8172
16. B-1/7 17. 29,37,58,37,58,37 =9-1/2 18. 23,5,23,10,23,10=4-1/8
19. 11-512 20. 7-37/40 21. 12-15/16 22, 13-1/8
Practice, page 171
1. 134172 2. 612 3. 8 4, 578 5. 2310
6. 913 7. 1118 8. 12518 9. B8-1/20 10. 3-13/28
11. 11-19/30 12. 26479 13. 19-1/6 14, 14 15. 16-4/5
16. 16-15/16 17. 12-11/24 18. 50-11/12 19. 54-3/4 20. 9-1112
21, 14-19/30 22, 412 23. 3-3/4years 24. 11-1/2 hours 25. 15-3/4 hours
Computer Program Mixup, page 1M
10
70
40
30
BO
50
20
Exercises, page 172
1. 4 2. 15 3. 12 4. 27 5 40
6. 128 7. 192 8. 90 9. 12,7,12,7=1-213

.10, 12,7,12,7=1-1/4 11, 11,2,11,2=1-122 12 1110 13, 2718 14. 3-1/6
15. 1-1/4 16. 9-3/8 17. 1-4/5 18. 7213 19. 10-6/11
20. 5-4/5 21. 2-5/6 22 6-5/8 23. 1172 24, 2-17/24
Practice, page 173
1. 4512 2. 53/4 3. 235 4, 357 5. 8-5/6
6. 5-6/11 7. 5310 8. 257 9. 6-7/8 10. 2-710
11. 3-8/15 12. 1/2 13, 213 14, 3-4/15 15. 2-2/9
16. 3-5/12 17. 2-7/8 18. 6-5/8 19. 17-5/8 20. 21-5/8
21. 10-716 22, 8-3/4 23. 9-38 24. 91112 25, 7-19720
26. $14-3/4 27. 9-1/6 years
Revlew, page 173
1. 25/4a6-1/4 2. 1721 3. 415 4, 1 5 22-3/4
6. 1-1/6 7. 4-47/80 8. 3112 9, 1-1/8 10. 1-1/18
11. 1/4 12, 7720 13. 6-7/8 14. 7-712 15. 12-59/60
16. 6-5/8 17. 4173 18. 2-910 19. 5-7/9 20, 219730
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Exercl'ses, page 175
1.

No 2. Yas
6. 2213 © 7. 8M3
11. 1-277 : 12, 1719
16. 54 17. 1/6
20. 7/3,2/3,7/3,3%2, 71, 12=31/2
24. 9/40 25. 12
29. 910 30. 20721
34. 32/55 35. 10
39. 5-3/4 40. 28
Practice, page 176
1. 1213 2. 9735
6. 825 7. 16
11, 8/31 12. 1550
16. 2/5 17, 211
21. 5/8 22, 7554
26. 2112 27. 4-6M11
3. 26-1/4 32, 323
36. 3-13/25 37. 2-12/49
41. 10-4/5 42, 63/95
46. 17-13/36 47. 1/6 of a cake

48. 10guests, 1/4 pizza left (4 + 3/8 = 10- -2/3} (10 guests x 3/8 pizza = 3.3/4 pizzas)

Caleulator Fractions, page 177

1. 5.85,5-13/20 2. 5.18,5-1/6
6. 55512 7.18,7-1/8
10. x,M+,x,+, MR, 0.35 11 8,7.54035
16. 0.084, 21/250 17. 0.3125,5M16
Exerclses page 179

a 05 b. 03
2. a. 1/4 b. -35
3. a. Positive b. Negative

f.  Negative 9. Positive
4 a P b. N
5. a 73 b.. 1/8

f. -29/4 g. -33110
6. a. -34--075 b. 43=-13

. -113=-38

Practlce page 180

a -08 b. 75
2. a. 35 b. 198
3. a A b. C

e B f. ©

. © k D .
4 o True ~b. False
5. 8. <« b. =

f. < g <

a. n=-44 b. n=-3

6.
T. {1972, -10/4,-17/4, -16/4, -1514, -14/4, -13/4, -1
8.

{112,002, 112, 212, 3/2)

10. {46, 674, -412, 214, -2/-6, -6/-2, 0-6, 0/4, 0/-2)

Graphing Ratlonal Numbers, page 181

1. a (1.8,-0.6) b. {18, 1.6)
. (1,-1.6) g. (-14,-08)
2 a V b, W
. v .
(
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13.
18.
23.
28,
33.
38.
43

3. 4465, 44-13/20

8.
13.
18.

LU

oo

NazTo

Proorapnon

24,1174, -10/4, -0/4)
9

TF0

15

5/8
110
5/6
1-11721
3r4

2

3-255
19/20

14.18, 14-1/6
0.281 25, 9/32
0.787 5, 63/80

-1.26
35
Positive
Negative
N

-4/5
-24/5
3/2=15
abece

43
215

B

A

D
True

-3

>
n=-24

(1.2,1.4)
(0.4,0)
X

9.

14,
19.
24.
29,
34,
38,
44,

14.
19

Ra~pag

fRAagTaan

a

a—ga

Yes 5.
2/5 10.
. 113 15.
. 78,41 =7,21=3-1/2
. 173 23,
. 10-4/5 28.
. 1711 33.
. 1-1/8 38,
1-172 5
5173 10.
34 15
1732 20
48 25,
1-5/16 30.
3-23/84 35
1-1/9 40
4-18/21 45
49,
2.2,2-1/5 5.
+ X, + 035
0.88, 22/25 15.
2.187 5, 2-3/16 20.
-0.875 a.
-972 e.
Negative 8.
Negative I
P e.
1217 a.
1-1/3=-13 a.
04 e.
1/16 0.
E e.
& I
B n.
True
= 0,
f=-49
(-1.4,0.4) a.
(-0.4,-1.6)
V4 a.

No

114
13-5/7
31172
2-1/4

5.625, 5-5/8

1.1,1-110
1.776, 1-97/125

07
-23/10
Positive
Positive

{0,1.4)



3. (07,24)(:02,-1.2)(15,-1.6)(-1.2,-0.4)(2.4,0)(-1.2.0.4) (-7,1.8)(-0.4,1.2) (0,2.4) (0.4, 1.2) (1.8,1.8) (1.2,0.4)
(2.4.0)(1.2,-0.4) (7, -1.8) (0.4,-1.2) (0, 2.4)

a. (0, 1){0.3,0.4) (0.1,05)(0.4,0) (0.2,0.1)(05,-0.4) (0.3.-0.3) {06, -0.9) (0.4, -0.8) {0.8, -1.5) (0.4, -1.4) (0.9,-1.9)
(0.1, -1.6)(0.1,-1.9) (-0.1, 1.9) (-0.1,-1.6) (:0.9,-1.9) (0.4,-1.4) (-0.8, 1.5} {-0.4, -0.8) (-0.6, -0.9) (-0.3,-0.3)
(:0.5, -0.4) (-0.2, 0.1} (-0.4, 0} (-0.1, 0.5) (-0.3,0.4) (0. 1)

Exeorclses, page 182

1. 3,-1,265 2. 1/4 3, -3,61/8 4, -1/5

5. 23,-9,23,-18,112 6 725 7. 14M2,112,11,1,1 B. -45

9. 7/9,1/6,14,3,17 10. 1-172 11, 16/3,3/8, 128, 9,137, 5-17/24 12, 6-5/6
Practice, pags 183

1. 0 2. 45 3 13 4. -1/15 5 -1/4
6. 23/48 7. 0O 8. 559 8. -19-7720 10. 1-78
1.1 12. -7116 13. 22735 14. -19 15. 41412
16. 4-23/24 17. 0 18, -3-7/8 19. -1 20. 1

21, 2 22. 4172 23, 35 24, 235

25, 3/10,4/5,273,6/7 26. O

Fluctuating Stock Prices, page 183

a. +$2.63,-50.25, +51.25, -$3.88, -$0.75 b. $1250, $3875, $550, $3237.50, $5325

Exercises, page 184

1. -2,-223 2. -9 3. -1-1/4 4. -3,1,-114 5. 320

6. 1/4 7. 25, -51,-15-15/16 8. 10-33/50 9. -10-5/6 10. 313
11. 8/33 12. -1-4/7 - 13, -2-5/6 14. -3/8 15. -3,10,-6
16. -1-3/4 17. 2-273 18. -15,2,-15/7,2/5, -6/7 18 -11/20
Practlce, page 185 .

1. 5 2. -15 3. 18 4, 521 5 310

6. 1/6 7. -14-2/5 8. -10-27 9. 16-173 10. 177
11. 1118 12, -18-273 13, 112 14. 213 15. 38

16. -3/5 17. -9/56 18. 5/6 18, x=-2-12 20. x=-7/11
21. x=1/6 22. x=0 23. 67 24. -3-3/25

Closurs, page 185

a. NIWQ b. 1Q c. NIWABQ d. Anumber divided by zero is undefined.
Fractions and Exponents, page 186

1. 4 2. 6 3. 10 4 5 5. 100

6. 15 7. 100 8. 60 9. 49 10. 400
1. 2,3

Comblnatlons, page 186

1. 113 2. 2625 3. 125 4. 0342

5. -2.35 6. -1.15 7. 0.083 B. -0.087

9. 03 10. -0.8 11. 163 12. -09

13. © 14, 0 15. 0.02

16. a. 113.04cm® b, 15046 cm® ¢, 8589.54cmd d. 257cm3

17. a. 510m b. 2944m e. 988.975m d. -1025m

The negative height represents the distance below sea leval that the object is dropping

Review, page 187

1. 1183 2. 18 3. 34 4. 3/20 : 5. 2-1/4
6. 4-2/5 T 12 8. 1417 9 9 10. 42
1. 6 12, 12 13, 2 14. 9 15. 5

16. 2 17. 173 18, -112 19. 12 20. -1/8
21. -27/40 22. 112 23, 32115 24. 1-34 25. -3-7/10
26. 0 27. -1-173 28. 1 29, -2 30. -13/20
531. 1730 32, 4-3/4 33. 213 34, -7-612 35. -6

481




3 ' 40,

36. 9/32 7. -213 38. 11 39. -16-2/3
4. -7-1/5 42. 3/4 43 13 44. -4.5/7 45. 2-310
46. -6-1/3 47. -1/2 48. -1/6 49. -1-14 50. -4-1718
Test — Unlt 7, page 188 .
1. 55/%6 2. 521 313 4. 3412 5. 1411732
6. 712 7. 1112 8 13738 9. 1-1/24 10. 10-715
11. 13-7/18 12, 1-23/36 13. 3-209 14. 4-5/8 15. 258
16. 9714 17. 9 18. 11124 19. R 20. §
2. P 2 R 23, P 24, P 25. 5
26. Q 27. P 28. Q 29. 110 30. 19724
31. -2-9/10 32. -1-45 33, 3-3/8 34 11118 - 35, 2027
36. 1-1/4 37. 14-1/4 38, -7/22 39, 4172 40, -2-4/29
Looking Back — Number Theory and Fractlons, page 189
1. {1,2,4,7,14,28) 2 {1.2,3,4,5,6,10,12, 15, 20, 30, 60} A 1,17 4. {1,5,29, 145}
5. {1,5,41,205) 6. Composite 7. Prime 8. Prime 9. Composite
10. Prime 11. 22332 12° 32x7 13. 2x52x17 14. 28x3x5
15 22x3x5x7 16. 8 17. 9 18, 10 18. 11
20. 15 21. 8 22, 48 23. 4 24. 48
25. 45 26. 360 27. 38 28. 3/4 29. 213
30. 34 n. 37 32. 5-1/4 33. 1413 34, 4-37
a5. 7-2/9 36. 315 37 > 38. < 39 >
40. < 1. > 42, » 43. 0.375 44, 1.875
45. 0.16 46. 26 - 47. 0.7 48. 16/25 48. 5/8
50. 4-3/8 §51. 310 52. 1-35 §3. 101,131,151, 181,191
Unit 8 — Equations and Problem Solving
Exerclses, page 181
1.k 2 f & 4 d 5 =
6. b A 8. j 8 ¢ 10. h
1. & 12. g
13. 2. p b. p+14 c. p-8 d 3p. e. 3p+4
f. 3p-5
14. a. s b. s-2 C. 5+3 d. 3s . @, 3s+4
f. 35+{3s+4)or6s+4
Ptactice, page 192
1. n2 2. 2n 3. n242 4 p24pn 5. 2p2
6. 375¢ 7. $1.45s54%1.25
8. a12m b. ms4 c. 12(m+100)
9. a m+12000 b. 2m c. 2m-15000 d 3m . 5{(m+12000)
10. 2. /+6 b. 241 c 2
Practice (cont'd.), page 193
. 21d
12. 8. r~1=9mints b, 2r=20mints € 2(r-1)=18mints d. 2r—1 =19 mints
13. 25n+2 14. 15h+40

Long Distance Telephons Calls, page 193

Regular Calls: 3.9 + 1.05 (m - 3),3.45+0.9
After Hours Cost: 3.9 + 0.42 (m - 3),3454+0,

Exerclses, pags 195
1. 13

2.
6. S5m+2 7
11. -4d+1 12

17.

16. 93+ 18
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22
31244
43-4k

. 7c-28

3 12
8. 12¢2-14c
13, 3,27

18, -3x+6

(m—-3),3.39+1.01 (m-3), 2.4+ 0.68 {m-3)
36 (m—3},3.39 + 0.51 (m-3),24+0.27 (m- 3). m = total minutes

160+ 20 5. 16g+13
3n 10. 1.45w+2.7
. S5v-40 15. 4n-12
. 3,6, 3x 20. 9,56



‘21, (-8)—2x 22. 6h—54 23.
26. 11.75 27. 8 28.
31. 64

32. a. Bom? b. 64cmd c

33, a. 24cm b. 54cm c

34, a. 6em? b. 60cm2 ¢

Practice, page 196

1. 72 ) 2. 39 a.

6. 180 7. 18 B.

11. 30 12. 112 13.
16. 257 17. -21 18.
19. a. 75% b. 625% c.

20. a. 7B.5cm? b. 11775cm?

21. a. 180° b. 360° €.

Practice (cont'd.), page 197

22. a 21 b. 5050

23. a 12 b. 110 c.

24, 47,53,61,71,131. No. The square of 41 (1681) (Composite number)

ClIff Hangers, page 197
1. a 49m
2, a 08m

196m c.
b. 33m c.

3. The ball, because of the air resistance acting on the teather.
They would fall at the same rate, because there is no air resistance on the moon.

Exerclsas, page 198

1. 1200, 1200, 14 400, 14 400 2.
5. 553,33 6. 3,3,3355 7.
10. ¢ 1. b 12,
15. x=26 16. r=183 17.
20. x=13 21. a=5 22.
Practlice, page 200

1. we13 J . nel15 > 3.
6. x=-4 7. s=22 8.
1. b=-13 12. m=-128 13.
16. y=19 17. w=5 18.
20. Yes, addition is commutative 21.
22. Yes, addition is commutative 23.

24. Savings: $39.95, 7.50,32.45
26. Greta: 15,7,22 27. Records: 6, 8.95,53.70

Expresslion Extenslons, page 201
1. (n=2)+n+(n+2} 2. 3n-4 3.

LETting Go, page 201
16 8 20
400 100 6

Exerclses, page 202

1. 24,24,56,56,7,8,8

3. 12 was added to both sides of the equation
5. 6 was addaed to both sides of thie equalion

Pracilce, page 203

1. 19 was added to both sidas of the equation v
3. 13 was subtracted from both sides of the equation
5. The like terms 2x and 6x wera multiplied togethar

18 24, 47 25. 126
15 28, 16 30, 32
32,768 cm®

105.84 cm?

20 cm? d. 360cm?

72 4. B 5 51
14 9. 32 10. 0

53 14. 16 15. 77

%

76%

1440° d. 144

2550 d. 10100

AA1m d. 1225m 8. 490m
7.4m d. 204m e B81.7m

3,3,-8,-8 3. (-4),20,20 4, 55,1212
c 8 b 9 c

a 13, x=35 14, y=-12
d=7 18. M=9 19, ¢=5
x=12 23, a=12 24. h=-88
a=3 4 x=135 5 y=-8
g=-340 9. we7 10. r=-30
Z=-63 14. a=4 15. a=-8
c=-2 19. Yes, addition is commutative

No, subtraction is not commutative
No, division is not commutative

25. Cars:32,4,128
28. Distance:; 276 km, 236, 512

95n-80 4 24(7+n) 5. 25n+3(10n)
2, 9,9,14,14,9,72,72,9,8,8,8
4. 8 was subtracted from both sides of the equation
6. 14 was subtracted from both sides of the equation

@ an

g was subtracted from both sides of the equation
Both sides of the equation were multiplied by 3
The like terms 9a and -a were combined
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7. 4cwas subtracted from both sides of the equation, then the like terms 3¢ and -de ware combined
8. 4gwas subtracted from both sides of the equation, then the like terms 5¢g and -4g were combined
8. The like terms Bp and 7p were added i

A

a,

e.

Negative Thought, page 203
b

x=9 . oxX=7 c. x=15 d n=18

x=8 f. d=1
Exerclses, page 204
1. 18a-30 2. 8s+86 3. 9b- 40 4. 59n-10
5. 20d+40 6. Bw+35 7. 5e-1 8. 7g+4
8. 28a-100 10. m=125 11. a=6 12. ra2
13. 'x=3 14. b=1172 15. b=8.14 16. a=9
17. x=3 18. a=2 18, d=3 20, y=2
21. d=3 22. k=110 23. =3 24, r=24
25. x=-22 26. r=14 27. h=0 28. zx23
29. a=-43
Practice, page 205 B
1. m=-8 2. n=4 3. r=11 4, x=4
5 c¢=2 6. x=12 7. a=47 8. y=1
8. d=3573 10. m=13073 11. x=5 12. x=8
13, x=11 14. a=6 15. n=-7 16. b=5
17. s=21 18. s=3/2 19. x=20 20. ¢=8372
21. b=27 22. r=-67/6 23. m=30 24. b=5
25. =% 26. w=71" 27. y=5 28. n=233
29. g=1037
Wow! page 205
1. 3,2; The number nis 9 2. 4,2,15;The number nis 4

3. 5,3, 3; The son's daily wage is $6.67 and the father's daily wage is $20
4. 3, 14; The small numberis 8. The larger number is 22

Exerclses, page 206

1. ¢ 2. d 3 b 4. a

Practice, page 207

1. 12,18,x+0.75x=28 2. 36,37.n+(n+1)=73

3. Bx11,2[x+(x+3)]=38 4. Chris: 8 km, Roy: 10km Fred: 7km, n+ (04 2) + (n—1) = 25
5. 11dimes, x{0.10} + x(0.05) = 1.65 6. 351026, x4+ (x+9)=61

7. 16thres-engine planes, 3x+ 2x = 80

8. Bartcaught 15, Lee caught 10, Rex caught 7. x+ 28x +7 =32

Repeaters, page 207 .

1. 89 2. 283 3. 16 4. 58 5. 112
6. 118 7. 115 8. 5736 9. 1M1 10. 5/11
11. 533 12. 23/99

Exerclaes, page 208,

1. 15.80,31.60 2. 47.1,131.88 3. 44.00,50.00

Practice, page 209

1. v=dit

2. a. 270km b. 570km/

3. a  Extra$4.00perunit sold b. (50+4n) c. 70,74,90 d. 13
4. v=28h, 40, 48, 80, 160 5. 3,7-1/2,8,8/7, 4,16/15 : '

Just For Fun, page 209
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Exerclses, page 211
1. 186,p+156=342
3. 215,430, 225, x + 2x+ (x+ 10)= 870

2.

J

20,31,33, n+ (n+ 2)+ (n+4) =93

4. The original mass of the box ot chocolates was 750g.
& 3dimes, 21 nickels, 0.05 {x+ 18} +0.10x=1.35 Cory ate 225g of chocolate. .
Practice, page 212

1. 37 BOO passengers, p = passengers in Nov., = 1260 (30}

2. 165 cm, m=mothers height, m—7 = Melanie’s height, m + (m—7) =337

3. 226t c=tonnes of coalin one car, ¢+ (c+8.7)=36.5

4. 660 m2, 1/2/+ 1/3/=550

5. Leonahas 42, Fiona and Rhoda have 23, X+ 2x+ x=84

6. There are 96 5 kg bags, 2 (136 — x) + 5x =560

7. Peter = 47 vates, Mitch = 61 votes, Jan = 63 votes. Jan was elected. v+ (v+14) +63=171

8. There are 12 persons, 4x +2x +8 =80

9. 50° 2x=two congruent angles, 2x + 80 = 180

10. Twelve 2L bottles were consumed. x = no. of 21 botties, 19 —x=no. of 1L boitles, 2x+ 1 (19— x) =31
Practice (cont'd.), page 213

11. The other team won by 3 points. Sadie’s and Soria's tear scored 48 points. 84 (1/3x) + 84 (1/4x ) =84 (28}
12. Thers are 8 executives, 1500x + B0 (128 —x} =108 000

13. Twenty-four 3L containars were sold, 3x+ 1{98 —x) =46

Equations with Two Varlables, page 213

1. m=1,n=11,m=3,n=86 2. r=055=2r=10,5=32
3. =12, w=12, /=6 w=18 4. ¢=8,d=2c¢=10,d=3
5. p=900,q=99,p=100,q=899 6. a=2bxl,a=60b=3
7. x=4,y=3
Exerclses, page 215
1. False ,  True 3. False 4. True 5. True
6. True 7. True 8. True 9. False 10. False
11. True 12. True 13. No 14. Yes 15. Yes
16. No 17. Yes 18. No 19. No 20. Yes
21. n={2,1,0,-1,-2,..} 22. n={2-1,0,1,2.]}
23. n={-5,-6,-7,-8,..} 24, n={7,8,9,10,11,..}
25. 8 (v)a b. (i)je<8 c. (iijc d. ()b<8B g>5d
26. r<5,r={4,3,2,1,0} 27. b>4,b=(5,6,7,8,910,..}
28 y=1,y={1,2,3,4,5.} 29. m<3,m={2,1,0} .
30. ¢<3,¢={3,2,1,0} 31, t>1,1={2,3.4, .}
32. x<-3,x={ }or@d 33, x> 12, x=[{1.2,3,4,..}
. 34, x<4-1/3,x=14,3,2,1,0}
Practice, page 216 .
1. n>»2 n<i 3. n«<0 4, n<>5
5 s<4,5={3,21,0] 6. z<52z-{543210
7. b>6,b={7,8,9 .} 8. n<5n={4321,0
9, y<5,y={4,3,21.0} 10. m<4,m=1{3,2,1,0}
1. x>7/3,x=13,4,5,..} 12. m<10,m={10,9,8,..2,1,0)
13, s>-2,5=1{0,1,2,..} 14, x<-20, x={ Jor@
15, x=2-7/2,x=[0,1,2, ..} 16. x<¥2, x={1,0}
17. 33bags, 6+ 0.3x<16 18. 18rides, 5+ 0.75x<19
10. 17 rails, 4+ 0.35x<10 20. 48L,17x=800
21. 12.5 minutes, 3.5 + 0.8x< 11
Review, page 217
1. h=no. of hours worked, 20 + 25h 2. m=no. of minutes above 3, 2.65 + 0.74m
3. 22 4. 1 5 -183 6. 0 7. b=69
8. x=-126 9. a=7 10. a=9 11, x=3 12, r=4
13. Ittook 4.5 hours, h=no. of hours, 90h = 405 14, 3300 ha were harvested, w = 2-1/2 (2200} - 2200
15. a. P=a+b+c b. A=Bs2
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16. There were 18 problems, x=9 + 14/2 17. Bananas cosl $0.80kg, 6x, X+ 0.40, 4 (x + 0.40), Bx =4 (x + 0.40)
18. a»17,a={18,19,20, ..} 19, x<-6,x={ }or@
20. ¢>9,c=(10,11,12,..}

Test-Unit 8, page 218

1. Debrasage:2x+3 2. Distancetravellad: 80x+ 190 3 20 4 1

5. 3-1/4 6. x=210 7. x=-13 8. x=8 9. x=9

10. x=8 1. x=-2 12. ¢- 14 points, x = points Vince scored

13. n-3,5, 7,47, x=first number, x+ 3 = second number, 2x = third number -

14, 7,10, 14, x+ (x+ 3) + (2x )= 31 15. She bought 3 candy bars, 0.35x + 0.25 (12 - x} = 3,30

16. m <15, m={14,13,12,..2,1,0) 17. p>2-1/3,p=1(3,4,5,..}

18. y«<3-1/2, ¥={3,2, 1,0} 18, x>86,x={78,9,..}

20. x>6-1/2,x={7,8,9,..} 21.x< 14, x={15,16,17, ..} R

Looking Back —~ Operations with Ratlonal Numbers, 219

1. 548 2. 27/40 3. 13 4. 2 5. 20-512

6. 16-23r24 7. 38 B. 1112 9. 17720 10. 6-13/20

11. 5-3/8 12. 19-3/4 13. 3-273 14, 4-5/12 15.-3-5/16

16. 1727 A7. 27/40- 18. 68/95 19, F 20, O

4 22, £ 23. C 24. £ 25. C

26. D 27. F 28. -5M14 29. -1.5/12 30. 2-21/40
3. 123 32, 14-273 33. 15 . 712 - 35. 623

36. 4-1/8 37 -1-19 38. 12 39. -12-1/4;

Unit 9 - Ratlo, Proportlon, and Percent

Exerclass, page 221
. a8

2. 2110 3. 157 4. 2015 5. 46
6. 15:20 7.30:12 8. 25:1100 9. 123
10. 15010 205, 150:205, 150/205 11. 5000 40 000, 500:40 000, 500/40 000

Practice, page 221
1. a.

4810 15, 48:15, 48/15 b. 3710867,37:67, 37/67

¢, 70to 67, 70:67, 70/67 d. 481031, 48:31, 48731
2 & 450:300(or3:2) b. 300:100 {or 3:1)

c. 100:450 (or 2:9) d.  300:450:100 (or 6:9:2)
3. a 146(@r73) b. 3:6{or1:2) c. 64{or3:2) d. 6:3(or2:1) e. 53
Exerclsas, page 223
1. = 2. = 3 = 4 = 5 =
6. = 7. = 8 = 9. = 10, =
11, = 12, = 13. a=32 14. a=27 15. c=21
16. b=14 17. r=8& 18. b=375 : 18. d=3 20. x=335
21. a=21 22. x=8 23, c=81 24. x=28 25. a=15
26. b=16 27. c=9 28. d=5§ 29. e=16 30. f=1
3. g=20 32. h=9 33. 43 . 34. 213 35. 1
36. 3/4 1 37. 23 38. 52 39. 9:25 40, 15:1
41. a. 54 b. 200g
42. a, 53 b. 67kg : 7 )
4. a.34 b. 343 ¢. 45kgnitrogen, 60 kg phosphorus d. 1.5tofeach
Practice, page 224 .
1. = 2. = 3 = 4 = 5 =
6 = 7. a=12 8. c=12 9. b=8 10. e=25
11. d=65 12, i=15 13. p=14 14. r=30 15. j=2
16. 5=09 17. g=3 18. n=3750r3-3/4 19. 168fish, 8 fish/5h = x/105h
20. $1.43,3m/$0.78 =5.5m/x 21, 16 hours, 5.5h/191m = x /553m
22. About 1.6 seconds 23. 4.5 cents, 21:6¢/24h = x /5h
24, About1.9kg,35 kgf450m2 = X /250m2 25. 5cm, 7°rise/.5 ¢cm = 10° risa/x

26. About 367 steps
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The Golden Ratlo, page 225
1.  Answers vary. 2.

v, vi

Gearlng Up: Inverse Helationships, page 225
12.51urns, 8.3 turns, 6.7 turns

1. 13.4tums 2.
3. 3gears =2 end gears rola

5 gears = 2 end gears rotate in same

Exorclses, page 226

te in same

1. $1.99/kg 2. 45km/
6. 045 cm”C 7. 0.07cm/fg
9. & About 625 hreaths/hour

¢. About 105 000 braaths/week

Practlce, page 227

1. 50km/h 2.
6. 0.4 pizzas/person T
11. 8.300 000000 m/s b.

$2.42/kg
$0.89/L
300 000 km/s

e. 1080000000000 mh

12
16.
17.

14h 13.
26.5 revolutions

Fuel Consumptlon, page 227

$1500

a. 5kgotbananas for $6.35

direction, 4 gears = 2 end gears
direction, 6 gears = 2 end gears rofate in opposite directio

3. $0.381
8. $8.75Mh
b

$8.50/h

$0.28/can

18 OOQ 000 km/min.

1 080 000 000 km/h
. $3.45

goroEw

For sxample: Fuel consumption of Ford Mustang, 68L/500 km = 13.6L/100 km

Exercises, page 228

1. 95% 2.
6. 0.15,15% 7.
11. 0.25,25% 12
16. 0.2,20% 17.
21. 02,15 22
26. 0.07,71100 27
Practice, page 228

1. 70% 2.
6. 506% 7.
11. 0.1,10% 12
16. 0.125,12.5% 17
21. 0.35,7/20 22
26. 1.75,7/4 27
Revlew, page 229

1. a 18:16(0r9:8) b
2. a 725 b.
1 d=10 4,
8 c=6 8.
13. 0.75,75% 14,
18. 0.3,3710 19
Exerclses, page 230

1. 15%, 15 2,
6. 3373% 7.
10. 8. 70% k.
14. 28% 15
19. 8. 52% b,
Practice, page 231

1. 10% 2.
6. 10% 7.
11. 5% 12

5%
0.06, 6%

. 0.75,75%
. 0.6, 60%

. 0.8, 45

. 0.025, 1/40

25%
80%

. 0.35,35%
. 0.84,84%
. 0.17,17100
. 0.28,725

16:34 {or 8:17)
187

x =35
$1.7549

. 0.9,80%
. 0.85, 13/20

B4%, 84
10% -
40%

. 150%

48%

20%
10%

. 550%

175%

8. 0.9,90%

. 1.25,125%
. 1.2,120%
.. 14,75

. 0.015, 37200

3. 135%
0.75%
. 0.0, 6%
8.5, 650%
23. 0.09, 9100
. 0.0775, 31/400

9=875
. 92km/M
. 0.04, 4%
., 0.78, 39/50

3. 40%,40
250%

. 75%,0.75

. 81.25%

3. 60%
8. 15%
13. 128%

4.

rotale in opposite directions,

$4.75/h 5.

. About 10 breaths/min.
d. About5 475 000 breaths/year

4.
9.
d.

15.
750 mlL bottle of soft drink for $1.09

1.
16.
21.

$3.80/kg 5.
0.71 m/min. 10.
18 000 000 000 m/min.

22 5 cenls or 23 cants

38% 5.
0.7, 70% 10
. 0.125,125% 15.
. 0.05,5% 20
. 0.16, 4725 25
. 1.25,5/4 30
200% 5.
42% 10
. 0.04,4% 15
. 0.8,80% 20
. 15,372 25
. 0,365, 73/200 30
}
as12 7.
$7.60M 12
1.2,120% 17
1,1 22
87.5% 5.
8%
. 20%, 0.2 13.
. 72.5% 18.
2% 5.
20% 10.
. 168% (or16.7%)  15.

ns, and so on.

. 0.075L%m
. 0.06, 6%
. 0.025,1/40

About 0.7 cm°C

0.115L/%m
1.8 homas/day

2.5% i

. 0.3,30%

0.875, 87.5%

. 0.55,55%
. 0.92,23/25
. 2,200/100

2.5%

. 7%

. 0.375,37.5%
. 0.25,25%

., 0.01,1/100

. 0.005, 1/200

b= 63

0.5%

2%, 0.02
0.3%

30%
75%
822%




16. Clothes 45%, Food 17.5%, Savings 27.5%, Entertainment 10%

17. a. 30% ~b. 50%
Uslng the Percent Keay, page 231

a. 02;20% b. .65 87%
e. 0.86; B6%

Exerclses, page 232

1. 66 2. 057,057
6. &9 7. 18
11. 385 12. §725
16. §90 17. $7.50
21. $280 22. $0.035
Practica, page 233

1. 30 2. 24

6. 98 7. 1495
1. $12.60 12, $315
16. $0.028 17. §32.85
21, $65 22. 3800
26. $0.076 27. $25
31, 8.02 - 32. 16
36. a. 216 b. 55%
Inflation Rate, page 233

a. 25% b. 31.4%
Exerclses, page 234

1. 50 2. 80,80
6. 150 7. 150
11. $800 12. $250
16, 22 17. 88
Practice, page 235

1. 90 2, 4

6. 300 7. 300 .
11. 184 12. 200
16. $1250 17. $1600
21. $237.50 22. $42105.26

Budgeting, page 235
Rent $7500, 25%; Transportation $1500, 5%,
Savingsfor a Year $3000, 10%;

1.
6.

1.
16.

Exerclses, page 237
$2.20

$16.65
$0.32
30"/:

Practice, paga 238

1.
2.
3.
4

5.

10.
13.

a. §$0.50
$8.75
$63.82
$0.50

‘$16.03

$19.47,$21.03

$30.18, $32.29

R e @

eapooy

6.
1.

$10.80
$31.85

. $0.58
. 5%

$0.00
$3.85
$4.47
§0.65
$110.40
20%
$17.50

C.

60%

c. 0.625;62.5%

3. 78,78

1
1

3. 4
8. 35

3 15
8. 238
13. $0.645

8. $6000

23. $9900
28. $400
33. 303
c. 264

c. 5.6%

220

8. 35

7
1

ToaenO0

3. 50
8. 44

510

a2

3. 30

8. $394.737
3. $4.50h

. $1.88
$11.21
3. $10488
8. 12%

$0.60
$528
68.29
$32.33
$0.00

. 85%

2. $180.00

a.  $11.45,$34.35,$150.00, $82.50, 30%, $875.00

b. $0.28, $4.26, $47.50, $53.20, 9%, $173.31
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14.
18.

2oa

4
9.
14.
19.
24.

Food $3000, 10%; Clothing $3000, 10%;
Taxas $9000, 30%

14,
18.

aa

®a

50%

d.

12
2.1

$60

248

. $1575
. $10.50
. $0.75
. 15.09
. 12,96

50
$150

43

50

45

$72
812.5km

$3.75
$0.06

$1798.50

$18.50

$1.20
$6589

$1.56
$81.66
20%

0.75; 75%

5.
10.

20.

10.
20.
25.

10.
15.

5.
10.
15.
20.
25,

5,

15,

40%

38
$78

$0.80

6.75
$13.50

$3.52
$5.84

. 6.2

200
$7.50

500
500
$50
$1.25
153¢em

Recreation $3000, 10%:

$3.60

. $0.38

15%

. $48.50

$8.73
$0.60
$8.19



Duty and Federal Sales Tax, page 239

a. $26.88 b, $29.33 c. $326.50 d. $172.98 a. $14.42
f. $109.38
Exerclses, page 240
1. a $8 b, $12 c. $10.50 d. $7.75 e. $18.25
2. a 173 b. 34 c. 113 d 112 a. 313
3. a 6 b. $8 ¢c. %1875 d. %3450
4. a. %24 b, §2.49 c. $333.33 d. $5.25
Practice, page 241
1. §6 . §3 3. %10 4 $18 5 1
6. 5§70 7. $21.e8 8. $7.88 9. $28.50 10. $15
11. $5.38 12. $300 13. $201.60 14. $600 15. $906.67
16. 15 months
Compound Interest, page 241
a. $5.00 b. $5.26 c. $121.55
Commisslion, page 242
1. $3401 2. $6720 3. §$15400 4 75% 5. 8%
6. 55%
Parcent of Change, pags 241
7. $96, 20%, 265 cm, 15cm, $10000, $12000 8. 886 m, 96 m, $700, $756, $600, 40%
9. $1000x 10% =$100, $1000— $100 = $900, $900 x 10% = $90, $900 + $90 = $990
10. $1000x10%=$100.$1000+$100=$1100,$1100:10%=$110.$1100-$110=$990.
You do not get back the original amount sinca you are not always multiplying 10% by the same amount.
Review, page 243
1. 26% . 8% 3. 4% 4, 20% 5. 333%
6. 5% 7. 125% 8. 25% 9. 20% 10, $18.40
11, $27.00 12. §$14.00 13. §$10.00 14, $6.00 15. $90.00
16. $75.00 17. $3.00 18. $60.00 19. 250 20. 32
21. 25 22. 4 23. &0 24. 60 25. 48
26. 12 27. 1200 28. $9.71 29. $10.17 30. $6.00
31. 84% 42 =59 minutas a night 33 11.5%
Test - Unh &, page 244
1. 517 . 522 3. 1722 4. 5178 5 a=24
6. b=9 7. c=18 8. 850cm 8. 2656L 10. $5.80kg
1. =96.7km/h 12. $6.35/h 13. $4.39kg
14. a. 0.15,15% b. 212,25 c. 0.375375% d. 1/80,0.0125 a. 1/20,5%
15. 75% 16. 1.25% 17. 175% 18. 9 19. 3
20. 153 21. 64 22. 300 23. 5 24. $112.00
25. $11.00 26. $70.00 :
Looking Back — Equations and Problem Solving, page 245
1. a r+4 b. 2r c. 2r-3 d ri2+4
2. a 54 b. 11 ¢c. 80
3. a a=l4 b. a=-315 c. a=7 d p=223 a. y=14
f. x=10 4 c
5. & Exlension=3/4 mass b. 36ky

6. Dinsmora won by 4 paints. x = Hadlsy's points, x+

x4 x+17+2x=101,x=21, » x+17=38, .. 2x=42

7 = Thurston’s points, 2x = Dinsmore’s points,

.
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Unit 10-Trlangles

Exerclses, page 247

1. line 2. sagment 3. point 4. Vertex, polygon 5, asegment MN
6. aline RS 7. apointQ 8. polygon, XYZUVW
Practlce, page 247 o
1. *H 2. K 3 4.

L —_——

P Q
N M
5. (MN= RS) They are congruent 6. AB 7. AB=EF
8. IM MN |IN 8. AB=KL GH=CD, EF=4J
10. Vertices 1. 4 12. TQAS, ASTQ, STAOR, TSRQ, BOTS, SRAT
Exerclses, page 249 _
1. 90° 2. 50° 3. 160° 4. 180° 5 60°
6. 130° 7. 700 8. 70° 9. 120° 10. 30°
11. 110° 12. 1860°
Practice, page 249
2. There is mora than one angle formed at A. 3.
4 A=sD LBz oF C=2F 5. ZABC= /GH! 6. «£C ~ECA £DCB, ~BCD
7 a S b. T c. G d & e. Y
f. P

Trlangles, page 250

No sides equal: B=80°, C=40°, A= 60°, 80° + BO° 4+ 40° = 180°;
2sides equal: £ = 86°, F=47°, D=47° B6° + 47° 4+ 47° = 180°;

3 sides equal: H=60°, /=60°, G=60° 60°x 3= 180%

3 acute angles: K= 80°, L = 38° J=62° 80°+62°4+38° = 180

1 obtuse angle: M=35°, O=25° Na 120°, 120° + 35° + 25° = 180°;
1right angle: Q= 32°, A=58°, P= 907, 32° 4+ 58° 4 00° = 180°

Exerclses, page 250
1.  Isosceles acute 2. Scalene obtuse 3. Equilateral acute 4.  Isosceles right
5. lIsosceles obtuse 6. Scaleneright

Practlee, page 251

1. Seediagrams/answers on page 250 2. Seepage 250

3. a.  Congruent b. Yes i

4. a. Congruent b. Yes

5. a. Different b. Yes

6. a 90° b. Yes

7. a. Obluseisosceles b. Acute scalene c. Right
d. 35° Obluse isosceles e. 90° Right i.  80°, Equilateral g. 70° Right
h. 120° Obtuse isoscelas :

8. Na. A straight angle of 180° allows no roem for the 2 other angles

9. a Al b. Some c. No d. No e. No
f. Some

More and More Trlangles, page 251

" H n=number of polygon sides, then (n—2) x 180 squalsthe sum of the polygon’s angles.
9 sided polygon = 1260°, 12-sided palygon = 1800°, 100-sided polygon = 17 640°;
3,3,180° (3—-2)x 180, 4, 4, 360° (4-2)x180;5, 5, 540° (5-2)x 180

490



Exercises, page 252
1. a 2D b. 2zF c. ZE 2.
d. DF e. FE t. DE -

3. AKLJ=ARQP, AMNO=AXYZ, AHIG= ASTU

Practlce, page 253 L
1. & £8 b. «T c. ST d TR
2. a. AFGH b. £G e <2l d <«F

4, Theyarecongruent 5. oeom 2 em 6. Impossible, ABor ACare too short or BCis too long.

3cm
Investigating Trlangles, page 253
£Cc A< LB
Exerclses, page 254 .
1. a. DE b. 2D c. DF " d. ADEF . EF
1. ZF
2 a <L b. £t c. JL d. AJKL 0. ZK
1. JK
3. a Z£8 b, £T c. SU d. ASTU e. T0
f. zU
Practice, page 255
1. €B=2cm, BA=3cm 3. b, Yes SAS
4. b. No,the angles batwaen the two sides must also ba congruent
5. @& Yes, SAS b. Yes, ASA c. Yes 5SS d. VYes, AAS 8. Yes, SAS
f. Yes, SS8&
Constructlon Challenge, paga 255
A
A
3cm
35° S5cm
c B
Exerclsas, page 256 .
YZ 2. uw 3. XZ 4, UV 5. UW=8cm

C 1
6. XZ=30cm

Practlce, pige 257

1. a. 24cm b. 32cm c. 3ocm d. 40cm e. 50,40

f. ©66.67,53.33 g- 133.33, 106.67 h. 1000, 800
2. Aand Yaresimilar, Band X are similar 3. Aand Carasimilar, Band Dare similar, £ and F are similar
Review, page 257
1. & [ Y e — c. F d. J

C D
B G
E K 60°
A




2. a 9e° b. 3&° c.
3. a Right b. Equilateral c.
4. a. Yes ASA b. Yes, AAS

Exercisas, page 258

1. x=152m 2. x=28m 3.
4 4M15=x/9,x=24m 5.

6. 211.5ax/45 x=6m

Practice, page 259

L

1.81.2=x/10,15m .
12/52 x/0.8, x=1.92, 192 cm

4a°
Isosceles

d.
d.

2/1.8=x/108, x=12m

1/0.7=xM111,x=1586m

2. 2R25=x/M17514m

£DAE= #BAC, LADE= #ABC; .. ZAED= ZLACE; 28571 m

7.87m,8.57 +1.3=7.87,x=6.57, 0.7/9.2 = 0.5/

Outdoor Math, page 259
Answers will vary

Exerclses, page 260
1. 4

. 2 9 3.
6. 20 7. 15 8.
11, 0.01 12, 0.02 13.
16. 5/6 17. 711 18.
21, 4,-4 . 22, 3,3 23.
26. 03,03 27. 11,14 28,
Practice, page 261
1. 2 2. 7 3
6. 0.2 7- 08 8
11, 511 12, 132 13
16. 14 17. 6 18.
21. 18 22. 25 23
26. 35 27. 22 28
31. 13/25 32. 355 33
36. 173 37. 35cm 3B
Cube Root, page 261
a 3 b. 2 c.
f. 1 g. 20 h.
k 7 i 30 m.
Exercises, page 262
1. 22 2, 386 . 3.
6. 3.32 7. =58 8.
1. =6.8 12. =678 13.

Practice, page 263
1.41,1.73,2.24,2.45,2.65,2 83, 3.32, 3.45, 3.61,3.74,3.87

1.
2.

3.

1.

a =55 b. =71 c.
. =110 g. =114 h.
8.1m 4, 74by74

A Divide-and Average Mathod, page 263
=10.2 2, ~184 3
=161

1.
6.

Exerclses, page 265
4

2. 40 3.
c=30 7. c=17 8.
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12
3/4

11,-11
-0.9,0.8

. 21
. 21118 =1-1/6
. Width is 8 ¢m, length is 16 cm

—

45 ¢«
=557
=123

-

=77
=12.2

=92

4.68
c=25

34.

14.

180°

Scalene

&
0.9
2/9
5/6
9,-9

36/35

100

11

1.73
=05
=12

=212

10.

10.

14

. 0.7

. 1112

. 1/14

. 04,04

1.1

. 2/15
. 90

. 14

. 5/4

. 8017

10

15

2.65
~94.9

=105

=13.4

c=1.1
c=41cm



11. ¢x15¢cm 12. ¢c=25cm 13. ¢=361cm 14. c=354cm 15, ¢=53.9cm L

16. b=6 17. b=12 18. b=1 19. b=16cm 20, b=12cm |
21, b=1/2unit 22. b=224cm 23. b=19.4cm 24. b=8.1cm ‘:
‘ |
Practice, page 266 |
1. c=34 2. c=40 3. c=58 4, c¢=3 I
5. c=v4525 6(s0419) ' 6. c=51 7. b=20 B. b/_=15 i
9. b=83 0. b=33 11. b=35 12. b=48 13. 54 ’
14, 283 15. 141.4 16. 335 17. 15km 18. 4m |
19, 400m 20. a. Yes b. No c. Yes d. Yes i
The Right Trlangle, page 267
1. 16 2. 17 3. 4 4. 1.2 |
5. 36m 6. 10.6cm 7. 65km 8. 1327 |
9. 1208 10. 5.66 11. 6.71 12. 9.06 :
13. 15.87 14. 248m 15. 39.8 cm |
Exercises, page 268 ’ !
o1, 13 2. 15 3. 24 4, 24 5. 60 ‘
6. 24 7. 14 8. 28
|
Practice, page 269
1. 25 2. 3 3. 29 3, 34 5. 60 \
6. 51 7. 28 8. 28 g 12 10. 205 |
11, 13 12. 60 13. 65 14. 119 15. 240
16. 108 17. 481 18. 6649 |

19.681091215121620152025182430 |
20.3456810512138151791215121620 '

Computet Powar, page 268
1. 80 2. The loop continues, trying another number. |
3. a notatriple b. Bisgreaterthan50 €. nota triple

5. The same Pythagorean triple would be printed only once.

30°-60° Right Trlangles, page 270

1. 85cm,10cm 2. 17m20m 3. 4cm,68cm 4. 10m17m 5. B85cm
Review, page 271

1. 456m, 1.911.5=x/36 2. 4 3. 25 4, 32

5 36 6. 25 7. 08 - B. 5/12 9. 03

10. 1.4 1. 1.7 12. 2.2 13. 24 14, 3.2

15. 39 16. 38.7 17. 55 18. ¢=30cm 19. c=25cm
20. c=4cm 21. b=36Bcm 22, b=16cm 23. b=45cm 24. 44

25. 8 26. & 27. 7 28. 60 29, 58
30. 26m,x=3.9m *

Test - Unlt 10, page 272

2. & Scalensobtuse b. Scalens acute c. Right

3 a <F b. DE

4 a No b. Yes, SAS c. Yes AAS

5, a 25cm b. 42cm 6. =36m

7. a 30 b. 13 c. &7

B. a =~28 b, =45 c. =35

9. a c=15¢cm b. c=75cm c. c=25cm

10. a. b=9cm b. b=56cm e. b=2icm

Looking Back - Ratlo, Proportion, and Percent, page 273

1. {1,2.3,...24} a 1212 b. 914 c. B860r43
2 a x=35 b. x=18 c. X=75

3. a  $1500 b. $4.50/doz. e. 53cents d. 14 hours




L

4. a 14% b. 150% €. 0.6%
5. a 18/25 b. 114 c. 9/200
6. a. 90% b. 25% c. 80%
7. a. 28 b. 95 ¢c. 108
B. a 50 b. 500 c. 200
8. B 52% b. $140.08
Unit 11 — Constructions
Practice, page 275
2. a 180° b. 180°
Exerclses, page 277
3. a A=CldA=157+5 =314 b. #=0Cd m=14.13+45,7=3.14
R=C/d, m=18.84+6, 7=3.14 d n=Cud n=32.97+105, 71=23.14
4. A d=2rd=2x23,d=46¢cm b. d=2rd=2x85 d=17cm
¢ d=0Cmd=2198+3.14, d=7em d. d=Cr, d=26.69+3.14, d=85cm
5 a r=d2,r=122+2 r=6.1¢cm b. r=d/2,r=98+2 r=49cm
C r=C+m2 r=1256+3.14/2, r=2cm d r=C+ w2 r=50.24+3.1472, r=8cm
6. a C=nd C=3.14x25 C=785cm b. C=nd C=3.14x185, C=58.09cm
€ C=n0,C=3.14x3, C=9.42¢cm d. C=nd C=314x25 C=785¢cm
7. Diameter 8. 120°or240°
Practice, page 278
1. a. 12,3768 b. 92828 c. 4,1256 d 5314 8. 35,21.98
f. 25,157 g 612 h. 7515 l. 12525
2. 115°0r245°
4, a, 90" b. Right
€. Right. Any point joined with the ends of the diameter creates a right triangle. o
5. a. Perpendicular b. AC2=AB2.(CH2 ¢ Yes
6. a. Interior b. On
c. Exterior d. |Interior
E
7. 18.84cm
9.42 cm
;
3cm
Exgrcises, page 281
1. a 21,722,324 b, 21,2224 ,3; £8, 77, 25, 28
2. & £1,22:22 23 b, 1:21,24;4: 24, £2; 2 L1, £3;3:.3, 22
A B L3, s44: 2,22 b. ZSRT, £8TR
4 A L2, 28,22, 0340, 24, 21,23 b. 21,2221, 23, 21, 24 £2, 23, 22, 74; /3, 24
7. 1. Supplementary angles, 70° + x° = 180°, x°= 110 2. Opposns angles, x°=110
Practice, page 282
1. a. False b. True c. True d. True
2 & 70° b. 52° c. 15° . d.  26° 8. 42°
3. a 165° b. 75° c. 102° . d. 156° e 64°
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4. a. X= 120°, y= 60° b, x=40°
c. x=35° y=35°2z=110° d. x=50° y=40° z=50°
e, x=115° y=65° z=25" . x=70°y=40°2=70°
5. a. 45° b. Rightangle
6. a b55° b. Adjacent, cangruent angles 7. The angle bisectors intersect

Navlgation Angles, page 283

1. 50° Eastof North, 80° East of South, 30° Wast of South, 70° West of North

2. A=x=290°, B=50° C=210° D= 100°

3. A=70°Eastof South, B=50° West of South, ¢ = 30° East of North, D =80° Waest of North

N
P
80T~
D
4. A=110° B=230° C=30° D=280°
Exerclses, page 285
1. RSLXY 2. &5.LP0,051AS PRLPQPALAS
s FG.FF CD.FE HG 1 AB, CD L AB, 5C L DE, BC 1. AH, GF L DE, GF 1 AH
Practlce, page 285
2. Square
5. a No b. Yes c. No d. Yes.
Perpendicular lines — the reflection images match onto each ather. -
Non-perpendicular lines — the reflection images do not match onte each other.
Centre Search, page 285
1. Drawachord. 2. Draw the parpendicular bisector of the chord. This is a diameter.
3. Draw the parpendicular bisector of the diameter.
4. Theintersection point of the two diamaters is the centre of tha circle.
Exerclsas, page 287
2 a 3,6 b. 8,1 c. 54 d. 457 e. 1,86
f. 7,2,4 g- 50° h. 45° L 80°
3. a. AB|CD b. Notparallsl e WYKL d. MN|OP- a. MNotparallel
f. Motparalel i
5. & Yes b. No c. Yes
Practice, page 288 .
1. B 2=s3, =24 26=2T 25578 b, £2=46 /1220523227, 04=48
c. 70° d. 130° e 125° f. e2°
2. 8 66°114° b. 30° 150° e. 120°120° d. 56° e. 90°90°
. 45°45° .
3. 5rLPR a. CD|EF 5. Yes
6. a. ,ﬁsﬁé.@sﬁ.%s@.msﬂﬁ b. 4cm
c. Yes, because they are corresponding angles d. Yes, AAA
Review, page 289 .
2, a. 82512 b. 6,37.68 c. 1.7535
3. a 35°,145° b, 40° 130° c. 35°35°
5 a, 115°65° b. 115° 85° e. 100°
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Exerclses, page 290

28cm

496

1.  Trapezoid 2. Square, parallalogram, rectangle, rhombus 3. Kie
4. Rectangle, rhombus 5. Rhombus, square 6. Rectangle,square 7. 39.2m 8. 28m
Practice, page 291
1. a. Kite,p=558m b, Trapezoid, p=13.5m
2. Square:yes, yes, yes, 4 Parallelogram: yes, yes, yes, 0
Kita: no, no, yes (1 pair only), 1 Rectangle: yes, yes, yes, 2
Rhombus: yes, yes, yes, 2 Trapezoid: Yes (1 pair only), no, no, 0
3. a True b. True c. False d. True
4. Triangle: 180°; Quadrilateral: 360°; Pentagon: 5, 3, 540°; Hexagon: 6, 4, 720°
a. 14400, 1800° b. 180°(n-2)
Quadtilateral Search, page 291
8. Paralleleograms: GHNJ, GHOL, JNOL Trapezoids: GIKJ, HIMO, GIML, HIKN, JKML, NKMO
b. Rhombuses: PTSU, UTRS, UTSQ Trapezoids: PRSU, QPTS, QUTR
Exerc¢lses, page 262
1. 60° 2. 58° 3. 130°
Practice, page 293 :
1. a 9¢° b. g5° c. 60° d. 45° e. 70°
1. &8 g. 6o° h. &0°
-5 Aparallelogram is always made. ] :
6. No. Equilateral triangla = yes; 30°-60° right triangle = no: Isosceles right triangle = no
Practice, page 295
2. Parallelogram Kite 3. Parallelogram Isosceles triangle
N X (0] X
-—-% .~
' II o
\ ~
\ / ~
\ / Y z"""7%
Y f .
_»P /
’I
fa] Y z
Review, page 295
1. a. Rectangle, square
b. Parallelogram, rectangle, square, rhombus
€. Paralellogram, rectangle, square rhombus
d. Rectangle, rhombus )
Test — Unlt 11, page 296 -
2. a 650m 40.82 cm b. 3cm, Bemp T
3. & 40°140° b. 138° 48° c. 50° 65%
5 a. 135°45° b. 110°, 700 c. 48°
6. a. Bothasquare and a rhombus have opposite sides that are parallel and equal
b. The opposite sides of a kita are not parallal
Looking Back ~ Trlangles, page 297
2. 8 Acute b. Right . Obtuse. 3. a T b. 7R
4. a. Yes(SAS) b. Yes (AAS) ¢. No
5 a d4cm b. 39cm 6. 23.1m
7. a. 100 b. 12 c. 4/9
8 a =22 b. =32 c. =39 9. a 17cm b. 4cm
10. a. 14cm b 11. a. § b. 40 c. 205
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Unit 12 - Area and Volume

Exercises, page 299

Je. A=9800000km?

Exercises, page 302

1. A=1l4squareunits 2. A=716square units 3,

6. A=11592em? 7. A=575cmd

Practice, page 303

1. A=175cm? . A=30me 3.
6. A=9.375cme 7. A=T0cm? 8.
10. A= 14cm? lor eachkind 11
12. A=1Bcme

Other Polygon Areas, page 303

a. A-G(1!2bh),A=6(1.’2x10x10).A=300mrn2
b. A=B(112bh).A=8(1.f2x9x10),A=360mm2
c. A=10(v2bh).A=10(1/2xax10),A=400mm2

Exerclsas, page 304
1. A=13squareunils 2.
5. A=~13square unils
10. A=2826cm?

A=50squareunits 3.
6. A=S50squareunits 7.
11. A=254.34km? 12.

1. a. K Centi c. Deca d. M e. Heclo
f. Deci )
2. a Metres b. Mililitres e. Kiograms d.  Milliitres e. Centimelres ;
{. Tonnes g. Kilometres h. Miligrams L Milimetres J-  Kilolitres .
3. a 4 b 5 c. 0.685 d. 900 s. 820 ;
£ 400 '
Practice, page 298 :
1. a a? 9 b, 5.764 c. 764000 d. 370 e. 0642
1. 498 g. 341 h. 1700000 . 8726 L 45
k. 16000 . 3
2. a. B670km b. 2.45¢g c. 250mL d. 6.35ka . 8800OM
f.  5000kg
3. a 0.004, 0.04,0.4, 400, 4000 b. 0.000072,0.00072,0.007 2,0.072, 0.72,7.2
c. 0.5, 5,50, 500, 5000, 50 000
Mega and Micro, page 299
a. 1000p
b. Winnipeg + Prince Albert— 987 km, Montraal + Moncton — 1024 km, Dawson Creek + Banff~1 019km,
Saskatoon + Kenora - 1033 km
Exerclses, page 300
1. a. A=78cm? b. A=1752m?2 c. A=20.76km? j
2o a A=324cm? b, A=27.04n7 c. A=7056km? !
3. a A=84cm? b. A-=12222m2 ¢ A=61.36km?
Practice, page 301
1. A=11tem? 2. A=27.65m’ s A-zi0aky? 4. A=4S03kmE S A=92m?
6. A=116m2 7. A=100cm? 8. A=1890cm? 9. A=75cm 10. A=112cm
11. A=240cm? 12. 10, 10, 100 13. 100,100, 10000  14. 10,10,100
15. 1000, 1000, 1000 000 16. 100, 100, 10000
17. 1000, 1000, 1000 000 18, Soccer 1g. About 5;_
20, 260.7 m2, 364 m2, 18605 m2, 5100.5 m?, 7300 m2 91, 5O.4mMP, 80m, 183 m, 303 m, 346m
Areas in Sclentilc Notatlon, page 301 :
a. A= 64000000 000 km2 b. A=0.00000001mm2 ‘ ‘

= 10 540 000 000 000 000 km?

2
A=730square units 4. Azld cm? 5 5. A=15275cm
A=33.6cm? 9. A=143325¢cm
A; 18.45m2 s A=204 km?2 5. A=5584m2
A=127.1m2 g A=258 _cmﬁ

. A=105cm2 Z50om 1
3em |
]

-— 2.5cm

d n (1/2 bh)

A= 113 square units
A~ 200,96 cm2 9. A~1256m?
A~1959674cmé 14 A=T785 m?

A=T8squaraunits 4.
A= 28 square units 8.
A=132.1536 m? 13-
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Practice, page 305

1. A=314em? 2, A.a5216m2 3. A=7255m2 4 A=1766m?2 5. A=1012 40m2
6. A~2658m2 7. A~159km2 8. A=4160.4 m2 8. A=975m? 10. A=6449, 2
11. A=3.3cm? 12, A=26.4cm? 13. A=1768625cm2 14, A~1.4 m? 15. A=T7065 2
16. A=4522¢m2 17. A=~1256¢m2 18. A=344m2 19. A~123.84cm?2 2. A= 1271702
Areas of Sectors, page 305
a. A=90/360x3.14x22 A~314cm2 b. A=180/360x 3.14x 22, A~ 628 cm2
€ A=45/360x3.14x22 A~157cm?2 d. A=72/360x3.14x 22 A~2.512 cm?
Exerclses, page 306
1. Square pyramid 2. Triangular prism 3. Tatrahedron or triangular pyramid
4. Cube 8. Cylinder 6. Solid 7. Shell B. Sclid
9. Skeleton 10. Shell 11. Skeleton
Practice, page 307
1. a. Cube b. Sphers €. Tetrahedron d. Cuboid @. Cylinder
1. Square pyramid g. Cone h.  Pentagonal prism
Faces, Verilcas, and Edges, page 307
Triangular prism: 5, 6,92 Triangular pyramid: 4,4,6,2
Rectangular prism: 6, 8, 12,2 Rectangutar pyramid: 5, 5, 8,2
Pantagonal prism: 7, 10, 15, 2 Pentagonal pyramid: 6, 6, 10,2
Hexagonal prism: 8, 12,18,2 Hexagonal pyramid: 7, 7, 12,2

Exerclses, page 308

1. Lateral area: 4 (9x 9) = 324 cm2, Area of bases: 2 (9% 9)=162cme, S.A: 486 cm?

2. Lateral area: (9x 10) + {10x 15) + (10 x 11), Area of bases: 2(1/2x15x 7), S.A.: 455 ¢m?
3. Lateral area: 4 {1/2x 8 x 6) = 96mZ, Aroa of base: 64 m2, 5.A.: 160 m2

4. Lateral area: 4 (1/2x 10 x 12), Areaofbase: 10 x 10, 5.A::340 cm2

Practice, page 308
- SA:=302m2 2. SA:=735m? 3. SA:=243cme
Lateral arsa: 4 {(1/2x 12 x 15), Area of base: 12x12, 5.A.: 504 cm?2
Lateral area: 3 (1/2 x 5 x 4.3), Areaof base: 1/2 x5 x 4.3, SA 43 m2
Lateral area: 3 (15x 12), Area of bases: 2 {1/2x 15 x 13), 5.A.:735 em2

. Lateral area: 4 (1/2 x 30 x 24), Areaof base: 30 x 30, S.A.: 2340 cm?

. Lateral area: 4 (172 % 42 x 50}, Area of base:42x 42, S.A.-5964 cm?

- Lateral area: 2 (3 x 9) +(4.2x9), Area of bases: 2 (172x3x3), S.A; 100.8 m2

- & SA:=78m2 ol paint needed b. S.A:=108m2 12 L paint needed
c S5A:=288m2 301 paint needed

4
5

3]

7

8.

9. Lateral area: 3 {172% 6x 10}, Area of base:1/2x6x52 S A 105.6 m2
10

11

12

13

Prism Patterns, page 309
a. Triangular prism, Hexaganal prism b. Yes

Exercises, page 310

« Lateral area: 188.4 cm2, Area of bases: 157 cm?, 5.4 - 345 4cm?

Lateral area: (3,14 x 30) 120, Area of bases: 2 {3.14x 152), 5.4 3297 m2
Lateral area: (3.14 x 20) 4, Area of bases: 2 {3.14 x 102), S.A:879.2cm2
Lateral area: 150,72 cm?, Area of base: 200.96 cmz, S.A:351.68cm2
Lateal area:3.14x 4 x 15, Areaofbase: 314 x 42, 5. A: 238,64 m?
Lateral area: 3.14x 12 x 10, Area of base; 3.14 x 122, 5.A.828.96cm2

bW

Practice, page 311
1. 5A:=85408m% 2. SA:~13816m2 3 SA:=26376cm? 4. SA:=1044992cm?
5. SA:=301.44m? 6 SA:41762em2 7. Sa.. 15072cm? 8. SA:~3153816 em2
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1. 685 . 4500 3. 54000 4 A=5184m2 5. A=3652 Cmg
6. A=7920me 7. A=80cm? 8. A=175cm 9. A-285¢cm 10. A=113.04m
11. A=53585m2 12. A=153.86cme 13. Cuboid 14. Tetrahedron

15. Hexagonalprism 16, Cone 17. 5.A:=1176cm? ~ 18. SA:= 145 m

19. Lateral area; 3 (3% 10), Area of base: 2 (1/2 x 3x 2.6), 5.A:97.8 cm?

o0. S.A:207.24ecm?  21. S5.A:12983 mé 22, S.A;452.16 cm?

Exercises, page 312 o

1. V=B4cubicunits 2. Va21-13 cubic units 3. V=30 cubic units 3
4. V=10cubicunits 5 V=200 cm? 6. V=2025cm’ 7. v=si2m® 8. V=170.67m
Practice, page 313 3
1. v=480m> 2, V=240m3 3. V=89.28cmd 4 V=1620m? 5. V=1260cm
6. V=56cm3 7. v=306m 8. V=124133m° 9. V=142.968 cm® 10, V=1056m
1. V=118.125m3 12. v=720m? 13. 10, 10,10, 1000 1a. 100, 100, 100, 1000000

15. 1000, 1000, 1000, 1000 000 0G0 16. 1000, 1000, 1000, 1 000 000 000

17. 12.15m° 18, 180cm?

Sugar Cubes, page 313

House: 1 000 000 000 sugar cubes

Ocean: 700 000 000 60O 000 000 000 000 sugar cubes
Moon; 21 900 000 000 000 000 000 000 000 sugar cubes

Earth: 1 083 208 840 000 000 000 000 000 000 sugar cubes

Exerclses, page 314
1. V~169.56cm? 2.
6. V=314dcm? 7.

V= 1570 cm? 3.
V=753.6 m3 8.

Practice, page 315
1. V=40192cm3 2.
6. V=154355cm3 T

10, V=4705.20cm® 11
13. 706.5m3 14.

Ve 133.97 cmd 3,
V= 22156 cm3 8

V= 135.05 cm? 12.
12 74cm

Comparing Volumes, page 315

0.5 cm, V=3.93cm3; 0.8cm, V~6.03 cm3; 3.26m, V=771.69 om: 3.8 om, V=~ 906,83 om’;
Volumes are not the sama. The cylinder with the greater yadius and lesser height has the greater volume.

Exerclsas, page 316

1. SA:=11304cm? 2.
6. V=~1795cmd A
B. V=5421.85mm3, 5.A.:=1402.25 mm?2 9.

S.A:=5024cmé 3.

10. V=171.92¢m3, §.4.:= 149.5cm? 11.
Practice, page 317

1. SA:=4522em? 2. S.A:=314 m2 3.
6. V=267.9m3 7.
8. V=117382cm3 9.
10. 50.24 cm?, 33.49 cm3 1",
12, 5538.96 cm2, 38 772.72cm’ 13.

Sphere Patterns, page 317
B =64x, 256/3 , C= 1367, 10873

V= 152 604 m? 4 V=5652em? 5. V=10048¢cm3
V=251.2m3 9. V=1607.68 md 10. V=635.89m3
V=5425.02 m3 4  V=133373m° 5. V=76302cmd
V=12.56 cm3 9. v=314md

V= 1/ (3.14x572) x 120, V= 408074.4 om3

S.A:=408.1 cmd 4, v=1130 cms 5 V=214386 cm
Ve 097.8 M3, S.A: = 482,81 M

V- 5788 em3, SA ;= 72.35 om?

ar

SA ~18086cme 4. SAI=6693 em? 5. V~55725cm?

V=4 186666.7 cm3

171.95 cm2, 212.07 cm3
153.86 cm?2, 179.5 cm3

7234 56 cm2, 57 876.48 ¢t

D= 1447 B64/3 m, E = 1007, 5003 m, F= 4007, 400073 7

a. Hine radius is doubled, the surface area is increased by 4 times.
b. Ifthe radius is doubled, the voluma is increased by 8 times. ) )
e Hthe ragius is tripled, the surface area is increased by 9 fimes, and the volume is- increased by 27 times.

For exampile:

r=3, A =36m r=9, SA:=324n(9times greater); r=3, V=108 m,r=9. v = 2916/3 n(27 times greater)
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Exercises, page 318
1. 1

2 1 3 1 4. 10,10, 10, 1000 8.
6. 1000, 2000 7. 10,10,10, 1000 8. 1000, 5000 8. 1000, 5000
10. 100, 100, 100, 1 600 000 11. 1000000, 3 000 000
12. 1000 000, 2000 000 13. 500,0.5
14, 750, 750 000 15. 4.5, 4500, 4 500 000
16.

. Since water moleculas expand and contract at different temperatures, the velume would also change.

Practice, page 319
1 1ml 2. 870mL 3. 4oL 4. 2KL 5.
6. 550cmd 7. 7.8dm3 8. 450m3 9. 15dmd" 10,
Skg 12. 4.2t 13. 380g 14, 12.8kg 15,
- 3000 000, 3 000 000, 3000, 3, 3 000 000, 3000, 3
- 500000, 500, 0.5, 500 000, 500, 500 000, 500, 0.5
8 000 000, 6000, 6, 6 000 000, 6000, 6, 6 000 000, 00O
- 10000000, 10 000, 10 000 000, 10 000, 10, 10 000 000 10000, 10
- 100000, 100, 0.1, 100 000, 100, 0.1, 100 000, 100
- 800 000, 800, 0.8, 800 000, 800, 800 000, 800, 0.8
. 21600cm?, 21 600 mL, 21600 g 23, 56.52m3 56,52 kL, 56.50
. 502400 em3, 502 400 mL 502 4o g
. Aquarium: V=16 200 &m +Cap. =16 200 mL (16.2 L). Mass =16200¢ (16.2 kg)
Pool: V= 42.39 m3, Cap. = 42.39 kL, Mass = 42,39 1

Gil drum: V= 376 800 em3, Cap. = 376 800 mL. (376.8 L), Mass ~ 376 800 g (376.8 kg)

Denshty, page 319
Platinum: 21 450: Goid: 19 290; Silver: 10 440; Rubber: 930

Area and Volume Problems, page 320

1. 6x6

3. 40-[(3.14 X 12) + (172 x 1 x 2)] = 35.86 cm?

5. 6{7x7)-6(3x3) =240 cm2

7. & BOXA V=1500cm3, S.A.: = 950 ¢m?
b. BOXB: Va=1440cm?, S.A: = 1024 cm?

€ V=1500cmd, 5.A: 920 eme

2. 1x64,8x8
4. (4.2x3.8)22-$351.12
6. (3.14x10%)~ (5x 5) = 289 cm2
8. a. cylinder b. cylindar
Cube: 5A =95 cmz, V= 64cm3
Cylinder: 5.A. = 200,96 cm2, V= 200.96 cmd

6cm
25 cm
10em ]
9. The cylinder has the larger volume. Cube; V= 44.9 cmd, Cylinder: V=50.24 em3
10. a. Pyramid b. Pyramid,

Pyramid: 5.A. = 96 cm?, V= 48 cm3 Cone: S 4. ~ 75.36 em?, V=37.68 cm?3
11. a.  Largest first: cube, cylindar, sphere, cone
b. Cube: V=216cm3, Cap. = 216 mL: Cylinder: V= 169.56 cm3, Cap. = 169,56 mL;
Cone: V=37.68 cm3, Cap. = 37.68 mL; Sphere: V~113.04 em3, Cap.=113.04 mL
V=(2x3x1)+[(1/2x2x 0.8)3] = 8.4 m3,
SA:=(2x3)+2(1x2)+2(1 x3)§ (2(13x3)+2(1/2x2%0.8) = 25.4 m?

12.

13 6{4x4)=9cm2 14, 1000cm
15. 8. V=777150cm3 V= (3.14x 852« 300) - (3.14 x 802 x 300)
b.  Capacity = 3.14 x 802 x 300 = 6 028 800 m( for6020.8 L)
16. 8. A=51076m2 b. {10000m2=1ha)A=5ha
€. A=20114m2,2.01ha d. SA:=131532m2 13.15ha
6. 46x10%%g f.  46x108t
g- (1m3=1000000 cm3) V31626 3, 316 260 548 om3 :
17. Sphera: V=267 846.67 cm? Cube: V= 512 000 om3 Space: V~244053.33 cm3 (77 723.80 ¢ cmé)
18. a.  Neither, both are the same. Sphere’s surface areg ~ 113.04 cm2, Cylinder's lateral area ~ 11 3.04 cm?
b. 23

500

1000, 2000

2500 kL
10.4 m3
65t



Revlew, page 323

1. v=240md 2. V=(12x14x92)10=644m’
3. V=140.608 cm? 4 V=13(9x35)6=63m3

5. V=1/3(1/2x16x 12)18=576cm3 6. V=13(Bx6)8=96m3

7. V=(3.14x82)5~1004.8m3 8. V=(3.14x32)60~192921.6cm3
9. V=(3.14x23%)7~=1163m° 10, V=~1/3(3.14x62) 11 =4145m°
1. V=1/3(3.14x8%) 20 ~1339.7 cm® 12, V=13 (3.14x25%)5=327m°
13. SA:=4x3.14x22~502m2 18, SA:~4x3.14x 122 = 1808.6 cm?
15. SA:4x3.14x7.52 =706.5m2 16. V=4B3x3.14x43 ~267.9cm?
17. V=43x3.14x20%=33493.3cm3 18, V=4/3x3.14x6.43= 1097.5m
19, 20000000 20. 0.7

21. 9000 22, r=5;(Axax52=100m)

23. No. lca cream: V= 473 x 3.14 x 3% = 113.04 cm3; Cone: V= 1/3 (3.14x 3?) 10 = 94.2cm?

Test-Unlt 12, Eage 324

1. A=25cm 2. A=18cml 3 A-25cm? 4, A=3Bcm? 5 A=34m?

6. A=113.04cm? 7. Rectangular prism or cuboid

8. Tetrahedron 9. Square pyramid

10. Sphere 11. SA:-=184m2, V=120m3

12. S.A.=25651cm, V=225.435cm® 13. S.A:=785m2 V=1570m3

14, 5.A:~282.6cm?, V=~314cmd 15. SA: =156 m2, V=96 m?

16. S.A:=1808.64m2, V =723456m3 17. 1.25L

18. 1.25kg 19, Eight times larger

Looking Back — Constructions, page 325

3. a 2512cm

5 a. 64°116° b. 40°,90° c. 70°70° d. 140°,140° e. 135° 45°
f. ©60°90°

Unit 13 — Transformations

Exercises, page 327

1. b. Allines are parallel and congruentto arrow xy
e. 53,353

2. a. [L2,D7] b. [A7.D2] ) c. [LB, Ud]

Exerclses, page 328 _ ___

1. Perpendicular bisector of PQ 2. Perpendicular bisector of XY

The Mlssing Line, page 329

3. Onlinem 4. The extensions mestonlinem

Exerclses, page 332

1. OQrder6 2. Order5 3. Orderi 7. Yes 8. Yes

9. No

Practice, page 333

1. Order3 2. Order2 3. Orderd 4, Order6 5. Qrder4

6. Order2 7. Order5 8. Ordert

Line and Rotatlonal Symmetry, page 333

3,3

Yes, 4, Yas, 4

Yes, 6, Yes, 6

No, 1, Yes, 1

Yes, 2, Yes, 2
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Exerclses, page 334

1. Yes 2. 90° counter-clockwise rotation about O, reflection in line m
3. Reflection iniina m, translation AB[A7, U 2] 4. Translation AB[A5, 04}, 180° rotation about &
5. Reflection in lina m, reflection in line n 6. 180° rotation about O, 180° rotation abaut P
7. Translation AB, translation CD
Revlew, page 335
1. [L6, D8]
4. a. Order2 b. Orders c. Ordor1 d. Order3
Exerclsas, page 336
1. W= dcem UW=4cm VW=4,5¢m
AS= 1.6em RAT= 16em ST= 1.8cm
2. 251 3. 25 4 LAST=sUVW, ZARTS=z L UWV £ SRT= 2 VUW
5. Similar figures
Practice, pags 337
1.  Reduction :
2. ZABCand ZEFG=88° /CDAand ZGHE = 90°, £BCD and £FGH = 105°, #DABand ZHEF=77°
3. The angles are congrusnt and the sides are in proportion
4. EF= 16cm FG=13cm GH=13¢m EH= 1.6¢cm
' AB= 32cm BC=26cm CD=26¢em AD= 32c¢m
5 12 6. 05 :
7. a. Ratio:1:2 Factor: 0.5 b. Ratio: 3:2, Factor:- 1.5

c. Ratio:5:2 Faclor:2.5

Shutterbug, page 337
They are congruent. AXY.Zis the 180° rotation image of AABC

Floor Plans and Maps, page 338

1.

Exe
1.

- D [H A
2© N

8. [R=5mby10m, DR=5mby4m K=5mbydm

b. Drawing (image): emm o
Actual apartment {object): 1im 1000 mm
-~ Scale ratio: = 1:200
Map (imags): omm - 20mm
Actual distance (object): 60 km 240 km 240 000 000 mm

- Scale ratio = 1:12 000 000

Projaction (image): 2emby105em o

Slide (object): 24 mm by 35 mm 24 mm by 35 mm
.+ Scale ratio = 301

.~ Scala factor = 30

& dop . 28om | so0 km

200km 500 km
b. (25cm+23cm +1.2cm = 6em) dem - _6Gem . 1200 Km
200 km 1200 km
€. Map (image): Jdcm

or —_lom__
distance {object): 200 km 20 000 000 cm
-~ Scale ratio: 1:20 000 000

1/20=2.8/78, 76 cm B. 1/20=6.8/138, 136cm
1/20 = 2.5/50, 50 em 10. 0.05
rcises, page 340
Yes 2. Allare 90°
Corresponding sides are proportional 4. Yes
2 6. Areaof object DEFG=12 square units, area of image D'EFG'= 48 square unils
Scale factor: 2, Increase in area = 4 times greatar, 2:4 8. VYes

LA=sW, £D= 12, LC=sY, sB=sX

. ADand'WZ, DCand ZY, CBand ¥X. BAand XW: They are proportional  11. 3
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12. Areaof ABCD =7 square units, Area of WXYZ = 63 square units.
Area of WXYZis 9times larger than the Area ot ABCD.
Areaof ABCD=2+15+15+1+1=7square units; Area of WXYZ=18+15+ 16+ 5 + 5 + 4 = 63 square units

Practice, page 341

1. Objeci : A= 8 square units 2. Object: A= 16 square units
a8 A=72square units, Scale factor: 3, Area: 72 a. Aa=64square unis, Scale factor: 2, Area: 64
b. A=2square units, Scale factor: 0.5, Area: 2 b. A-=4square units, Scale factor: 0.5, Area: 4
c. A=32squareunits, Scale factor: 2, Area: 532 €. A=136 squars units, Scale factor: 1.5, Area: 36

3. Object: A=27 square units
a.  A=23square units, Scale factor; 1/3, Area. 3
b. A=12square units, Scale factor: 2/3, Area: 12
c. A=48square units, Scale factor: 1-1/3, Area: 48

4. The area of the image increases by the square of the scale factor. See answars above.
5. 16times, 49 times, 1/9times, 1/16 limas

Exercises, page 342

2. ac,d
3, a. Squarepyramid b. Hexagonal prism c. Triangular prism d. Cons
4, a. figure a4 b. figure b7
. fi 4 ” d. Infinite
c. figurec \\ P R — 1 i
g 1
e ~
Practice, page 343
1. e¢. Eachsolid has 6 planes ol symmetry 2, ab.df 3. ac

Joln Them, page 343

Oy O G

Applications, page 344

1. Hectanglesiranslated and rotated 2. Hexagons translated, reflected or rotated
3. Squares reflected 4. Reflection or rotation, 4 lines of symmaetry
8, Rotation, one line of symmetry 6. Rotation, 5 lines of symmetry

7-8. Answers vary 9. Yes, they are congruent and symmetrical
10. Interchangeable: wheels; not interchangeabla: side mirrors

11. Reflection 12. Yas, right-left symmetry

13. ltis pleasing to the eye

The Fetry-boat Problem, page 345
Trip 1: bring goat across Trip 2: bring cabbages across and goat back
Trip 3: bring wolf across Trip 4: bring goat across

Lenses and Projsctors, page 346
1. AC= CD; BC= CE. They are equal. The image DEis a 18¢° rotation of object ABabout C.
2 CFistwice AC; CGis twice BC. Image FGistwice the size of object AB. Image FG and object AB are similar figures.

3 2 4, Theimage increases in size proportionally as it becomes larther from point C
Review, page 347

1. Translation [R2, U 1], reflection 2. Reflection , transtation [R 7, /0]

3. 90°clockwise rotation about 0, [L7, UC] 7. sAand ZE #Band /F, Z/Cand £G, ZDand £H

8. ﬁB;EFECEFG,CDEGﬁ,mEHE
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Test - Unit 13, page 348

2. 8§ b. 5 4 4

5. a Yes b. Yes c. No

Looking Back Area and Volume, page 349

1. A=384m2 2. A=62m 3 A=175 cm2 4 A=72cm? 5. A=3756m?
6. A=~5539cm? 7. Cylinder 8. Triangular Prism 9. Cone

10. Pantagenal prism 11. 5.A =245.76 m2 V=262.14m3

12. 8.A. <78em2, V= 36 om? 13. S.A -2375¢m2 V=6250 cm?d

14. 8A ~572.736 m2, V=~ 1039.958 m3 15. SA = sa4.o4cm2, V=753.6 cm?

16. 5.4 ~B803.84cm2, V=~2143.57 cm? 17. 1373.75em3 18. Almost 19. 1.36kg
20. 27 fimes

Unh 14 - Graphs end Relations

Exerclses, page 351

1. [~4 -3,-2, -1} 2. {4 3 {2,1,0,-1,-2,-3,-4 4. {}orD 5 {1
6. {4 7. {3 8. {}or@ 9. {-1) 10. {1}
11. {2} 12. {-4)
Practice, page 351
1. {10 2 (13 3. {lor® 4 (o 3 {}or@
6. [3) 7. {lor@ 8. {4 9. {92 10. {0.4}
1. {5.5) 12. {15 13. {Jor@ 14, {3-273} 15. {0.8}
16. { Jor@ 17. {0,-1,-2, -3} 18. {-3} 19. {}or@® 20. {-1}
21. {-2,-3} 22. {}or@ 23. {-1,1} 24, {1,-1}
“And” and “Or” Insqualities, page 351 :
1. {4,567 2. {4,321 3. {1,2,3,4,5,6,7,8
4. [58,7,8,9 10} 5. {3,4,56,7.8,9 10 6. {8,7,654,23,21}
Exerclses, page 352
6. Isthe areatormulafor a 7. Isthe young offspring of a
8. Sides tothe polygon 8. (bull, cow) ‘
10. (Toronto, Maple Leafs) 11. (Washington D.C., U.S.A)
Practlce page 353
Metrlc prefix and power of 10 2. French words
3. Base two to basa ten 4. Homan numerals
" 5. Scientific notation 6. Opposite
7. Moetric abbraviation 8. Daysinthe year
9. Appropriate metric units 10. Related 24 hour times
11. Days in months 12. Number of each part of body
13. Fruitivegetable classification 14-18. Answers will vary
Trlangle Challenge, page 353 ~
atetrahedron
Exerclses, page 354
1. 0,2, 4,6 2. 0,5,-10,-15 3. 6,7,8,9 4 -4,-125 5. 4,3,21
6. 7.1,5 -11 7. 6 8. 1 9. 43
Practice, page 355
1. -3,0,3,6 2. 3,-2,-1,0 3. 2,345 4, 1,2,3,4 5. 16,9,2,-5
6. -13,-8,-3,2 7. 32 8. 50 9. 4.1
10. -55,.75, -85, y = -5x 1. 1,2,3, y=x+(-3)
12, 9,11,13, y=2x4 1
A Formula for a Relation, page 355
a. 16L b. 4Llh €. a=(4h+18)
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Exerclses, page 356

1. Second: negative, pasilive; Thi

rd: negalive, negative; Fourih: positive, negative

2. a (3,1 b. (-5,-4) c. {23 d. (1.-5)
. (-1,-1) g. (0,-1) h. (0,0} L 21

3. V{(4,8),1(2,5), H(-4,3),Q(-2.3), C{-2, 1)

Practice, page 357

1. & (35 b. (-4.-5) c. {3,-2) d (0,0
f. (-5,-1) g- (-5 4) h, (3.1) i 2,0

2. E(5,5),D(2 4),1(5 3),M(4,2),L(1.2),G@E. 1}

3. Ci(1,5).B8(3,5),A{54) H(-1,3) K(-2,2), J(-3, 1}

4, N{-5, -1), Q{-3,-2), A(-1,-2), U{-2,-4), X(-4,-5)

5. S(3,-1), T(3,-2), W(1,-3), V(4 -4), Y(1,-5)

6. st 7. 2nd . dth 9. 3rd

11. x-axis 12. 2nd 13. 4th 14, Triangle

For Star Gazers, page 357

1. Big Dipper 2. The Little Dipper 3. TheWhale

Exerclsas, page 359

1. 2 2. 29 3. & 4. -18

6 2 7. 13 8. -38 9. 19

10. ¥:3,4,56,7;xy:(-1,3).0,4), {(1,5),(2,6), (8. 7}

1. y:-1,0.1,2,3;x,y:(3.-1),(2,0).(1,1).(0.2).(-1,3)

12. y:-7,-2,3,8,13; x, y:{-2,-7), (-1, -2}, (O, 3).(1,8),(2,13)

13. y:6,7.8,9,10; x, y:(2,8), (1, 7). (0. 8), (-1,9){-2,10)

14, y:12,5,-2,-9,-16,x, y:{2,12), (1, 5), {0, -2), (-1,-9), (-2, -16}

15. y:-5.-2,1,4,7;x,y:(2,-5),(1,-2),(0,1),(-1,4),(-2,7) )

16. x, x, X, X, 3 17. x, x, X, x, 8

18. X+ x+y=1+%0+y=1+xy=x+1 19. 4x,4x 4x,4x, 16

20. 2x,2x,2x, 2x,5 21, x—x+y=-1-%0+y=-1-x =-x—1

22. y=x+3,¥y={1,23,4,5} 23, y=-x-2,y=1{0,-1,-2,-3, -4}

24. y=6x-9,y={21,-15,-9,-3,3) 25. y=-2x+13,y=[17,15,13,11,9}

26. y=5xy=1{-10,5,0,5,10} 27, y=4x-1,y=(-9,-5,-1,3,7}

.Practice, page 360

1. ac 2. bec 3. b

4, y:-2.-1,0,1.2;x,y:(1.-2),(2.-1).(3.0),(4,1).(5,2)

5. y:5.7.9.11,13;x,y:(0,5).(2.7),(4,9),(6,11).(8,13)

6. y:-2,1,4,7,10;x,y:(-1.-2),(0,1).(1,4).(2,7),(3,10)

7. y:14.13.12.11.10;x,y:(-3.14).(-2,13).(-1,12).(0,11),(1.10)

8. y:16,13,10,7.4;x,y:(-2.16).(-1.13),(0,10).(1,7),(2.4)

9. y:-17,-9,-1,7.15,x y:(-3,-17), (-2.-9), (-1,-1).(0,7), (1. 15)

10, y:-16,-10,-4,2,8,x y: (-2,-16), (-1, -10), (0,-4), (1, 2). (2, 8)

11. y:13,10,7,4,1;x,y:(-2,13),(-1,10),(0,7),(1,4),(2,1)

12, ¥ -4,-3,-2,-1,0;x, ¥ (-2, -4), (-1,-3}, (0, -2, (1,-1),(2,0)

13. x:-2,-1,0,1,2,¥:2,3,4,5,6 14, x:-2,-1,0,1,2;¥:3,2,1,0,-1

15, %:-2,-1,0,1,2;5:7,6,5,4,3 16. x:-2,-1,0,1,2,5:-12,-5,2,9,16

17. x:-2,-1,0,1,2,y:18,15,12,9,6 18. x:-2,-1,0,1,2,¥:-6,-3,0,3,6

19. x:-2,-1,0,1,2;%:16,10,4,-2,-8 20. x:-2,-1,0,1,2,y:8,4,0,-4,-8

2. x:-2,-1,0,1,2;:y:19,13,7,1,-5

Practlce (cont’d.), page 361

22. y=-x+9 23, y=-x—6 24. y=x+3 25. y=x-4

27, y=-x+10 28. y=-5x+2 20, y=-3x+4 30. y=-x—11

32, y=-2x+3 33 y=-x-2 . 34, y=-x+4,y={6.54,32)

35. y=x-12,y={-14,-13,-12,-11,-10} 36, y=x+1,y={-1,0123}

37. y=2xy=1{4,-202 4 38, y=2x-2,y=1{6,-4,-2,0,2}

39. y=x—4,y=1{6,-5,-4,-3,-2) 40, y=-x-5,y={-3,-4,5,-6,-7)

a1. y=x-9,y={-11,-10,-9,-8,-7} 42, y=-9x+6,y=1{24,156,-3 -12}
. X+4 44, -x+6 45. x - 46. x

e (0,2)
e. (1,-3)
10. y-axis

15. Pantagan

26. y=x+2
H. y=-x-2
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Coin Problems, page 361
1. p:30,25,20,15.10,5;n:1,2,3,4,5,6(6ways)

2. n:2,4,68,10;d:5,4,3,2,1 3. 1,357, ,11,13,15;d:8,7,6,5,4,3,2, 1

4. g:4,3,2,1,n:5,10,15,20 . 5. g¢:53,1;d:5,10,15

6. d:51 .15,20,25,30,35;q:14.12,10.8,6.4,2(7way)

Exerclses, page 363

1. b 2. ¢ 3 a 4 y:-3,0,3;x y:(-1,-3),(0,0), (1,3
N y:0.1,2;x,y:(-2.0),(-1.1),(0,2) 6. y:-3,-2,—1;x,y:(-3,-3).(-2.-2),(-1,-1)

7. y:-6.-3,0;x y:(-1,-6), (0, -3), (1,0} 8. y:-4,.6,-8xy:(0,-4),(1,-6), (2, -8)

9. yi1,0,-1,xy:(1,1), (2,0} (3,-1) 10, 4,5,6 1. 0,-1,-2 12, -3,1,1

13. 5,2, 14. {(1,6){2,7) (3, 8)}

15 {(1.8)(2,7)(3,8) 16, y=x+5,{(1,4)(2,3) (3, 2)

17, y=-3x+2,{(1,-1){2,-4)(3, -7} 18. y=3x+22 {(1,25) (2, 28)(3,31)}

19. y=6x-9,{(1,-3) (2,3) (3, 9))

Practice, page 364

1. y:-5,0,5,10;x y: (-1,-5), (0, 0), (1,5), (2, 10)
2. y:0,1,2,3;x y:(-6,0), (-5 1),(4,2), (-3,3)

3 yi4,:3,2, 1% p:0,-4), (1, -3)(2.-2), (3, -1)
4. y:6,1,-4,9,x,y:(0,6),(1, 1), (2, -4), (3,9

S yi-4,-1,2,5xy:(-1,-4),(0,-1),(1,2), {2, 5)

6
9

¥:-16,-8,0,8; x, y: (-2, -16), (-1, -8), (0, 0), {1, 8) 7. 3,03 8 -1,01
. 4,-1,2 10. 9,7,5 1. y=-2x+15,{(1,13) (2, 11) (3, 9)}
12, {(1,1)(2,7) (3, 13)) 13, y=x-2,{(1,-1)(2,0) (3, 1)}
14, y=x{(1,1)(2 2) (3, 3)) 15. y=x—13/-2,{(1,6)(3,5) (5, 4)}
16. {{1, -5) (2, -6) (3, -7)} 17, y=-x—4,{(1,-5) (2, -6) (3, -7}
18. y=-x+9{(1,8) (2 7) (3, 6)} 19. y=x-7,((1,-6) (2, 5) (3, 4)}

20. a. {(-3.9)(-2,4)(-1,1) (0,0} (1, 1) (2,4)(3, 9)

{(-3,5) {2, 0) (-1, -3) (0, 4) {1, -3) (2, 0} (3, 5)}

{(:3,11) (-2, 8) (-1, 3) (0, 2) (1. 3) (2, 6) (3, 1))

All of them

{0, 0) (1, 1/2) (2, 1) (3, 1-1/2) {4, 2)} b. {(0,0)(1,1)(2.2)(3,3) (4, 4}
{(0.0) (1, 2) (2, 4) (3, 6) (4, 8) d. {{0,0)(1,4)(2,8)(3,12) (4, 16)}
a8 - not very steep; b - steeper; ¢ - even stesper; d — steapest

The graph for y = 1/3x will be less steap

2.

~e2ppRpp

Using the Computer o Produce Tables of Values, page 365
1. y=3x4+1
2 a LETy=5%-1 b, LETy=-3'x+7 €. LETy=(-5"x-3y2
3. 40FORx=-5105 4. 40FORx=1TO19STEP2
S. 4PRINT "ENTER THE VALUE CF A ™

5INPUT A

7 PRINT "ENTER THE VALUE OF B ¥,

8INPUTB

10PRINT TAB ( 5);"--—meoeeeeee?

20 PRINTTAB (5);" X had

30 PRINT TAB ( 5);"«--—-mereeem?

40FORX=1TO 10

JOLETY=A$X+B

Bg PRINT TAB ( 9;X; TAB { 20):¥

90 NEXT X

100 PRINT TAB { 5);"---ceomeeeecer?

T10END

Exerclses, page 366

1. 100 km/h 2. 250km 3. vyes 4. 275h
3. 6¢ 6. $2.10/day, $14.70/week, $10.50 in five days 7. 20 papers/day
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Pracllce, page 367

1. 10Q 2. 4rols

5. 10¢ /&km 6. $40

9. 96 km 10. 62.5 minutes

13. 100 minutes 14. yes

Exerclses, page 168

1. [L4,U2] a. (-1,1) b.

2. a (3-0) b. (3,-3) c.

3. a Paint: (2, 0); Image: (0, 2) b.
c. Point: (-2, 2); Image: (-2,-2)

Practice, page 369

1. [R6,D2

2, a (-3,5,03.3 b. (-4,-2),(2,-4) c.

3. AA'=BB'=CC'=FG 4,

5 a (1,4),{1) b, (4,-3)(3.4) c.

6. Allsegments are perpendicular fo line m 7.

8 a (44,44 b (535 3) . c

9. a 180° b. 180° c.

0. a TO=TO b. WO=WO

Exerclses, page 370

1. [A11,U3)

2, a =8T b. =5T [

1 @ LnemLAA' b. LinemlBB c.

4, a -7.-2, 2,-7 b. -7,-5,5,-7 c.

5. a. 80° b. 80° c.

6. AO0=A0

Practice, paga 371

1. [L6,U3]

2 a (22),(45) b, (3,-1),{:3,3) c.

3. D'(0,0)E'{2,-4) F(-2,-4) 4.

5. F'(5,-8)G'(-1,-8)H'(-1.-4) 6.

7. F{7.8)G(3.6)H'(3.2) 8.

9. a (2.6){6-2 b, (4,2),(2 -4) c.

10. T'(-2,-8) V'(-4,-2) W'(-2,-2) "

Computer Graphlcs, page 371

Answers will vary.

The Earth’s Degres-Coordinate System, page 3rn

1. Peking 2. RiodeJaneiro 3.

6. Calro * 7. Mexico City 8.

11, 115°E, 40°N 12. 60°W, 35°5

Review, page 373

1. {-1,0,1,23} 2. {-3} 3.

6. {1} 7.-9. Answers willvary 10,

13. 2nd 14, 181 15.

18. x:-2,-1,0,1,2:y:-10,-4,2,8, 14 19.

20. x:-2,-1.0,1,2;y:7,6,5,4,3 21.

22. (1,-4)(0,-2)(1, 0} 23

24, y=14-4x(1,10) 25. y=x-10:(1-9) 26.
20, 4,2,2,-4

30. [L4.D2]= D'(-11,-6) E'(-11,9) F'(6,-9);

3. §15 4. %10
7. %120 8. 0.8 km/minute
11. 300 km/h 12. 150 km
(3, -1) c. (52 E
Point: {0, -1); Image: {0, 1) :
Point: {-3, 0); image: (0, -3) _ l:
L
Puzzler, page 369
(3,6).(9,4)
Reflaction in line m
(-4, 2), (2, -4}
180° clockwise rotation about (0, 0)
(-4,2), (4, -2}
180°
=8T
Line mL CC’
-3,-5,5,-3
ao°
-1,-1.{7. 2}
Reflaction In y- axis
F'(-8,5) G'(-8,1) H'(-4, 1)
90° clockwise rotation about (0, 0)
(2r 2)- (2- -2)
. T'(e,-2) V'(2,-4) wi2,-2)
Inuvik 4. Durban 5. Lima
Los Angeles 9. 50°W,50°N 10. 120°W, 50°N
{}or@® 4. {lor@ 5 {lor@
-7.0,7,14 1. 2,1,4,7 12. 5,3,1,-1
3rd 16, y-axis " 17, x-axis =
x:-2,-1,0,1,2::51,-3,-7, -1
{-1,5){0,1)(1,-3)
1,4 (0,3 (1.2
y=05x+ 8;(2,9) 27. -3,8,-7,6 28, -4,1,-1,4

Reflectioninline m=0D"4, T E' 7, ) F'(7, 2); 80° clockwise rotation about0=D'(-4, TYE'(-T.7T) F (-7, 2)
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Test — Unlt 14, page 374

1. {1,01,28 . 2 (2 . 3. {3 4. {lor@ 5 {1
"B {}or@d © ' 7.9. Answers will vary. 7. Province and its abbreviation

8. Base 2numeral and its related base 10 nurneral :

9. Decimal and fis related fraction

10. -4,-2,0, 2 11. -4,1,8, 11 12. 0,1,2,3 13. 3d 14. y-axis
15. 4h 16. 3rd 17. x-axis 18, x:-2,-1,0,1,2;y:8,4,0,-4,-8
19. x:-2,-1,0,1,2;§:-1,2,5,8, 11 20. x:-2,-1,0,1,2:y:4,3,2,1,0 .

21, (-1,-2){0,-1)(1,0) 22. {-1,-1)(0,-7)(1,-13)

28. (-1,2)(0.1){1,0) '~ 24 y=5x+30:(2,40) 25. y=-2x-11;(2,-15) 26, y=3x+17;(2 23)

27. a. (2,4(1,4(,7)(2,7) b. (5.5)(8,5)(8.2) (5 2)

c. (5.5)(5.8)(28)(25)

Looking Back - Transformatlions, page 375 :

2. Answers will vary, a. Rotation and reflaction )
b. Reflection and rotation : ¢. Reflection and translation

3. 3:Triangle, 3, 3; 4: Square, 4, 4; 5: Pentagon, 5, 5; 6: Hexagon, 6, 6

4. Scaleratio »2:1,1:1, 3:2; Scalefactor52,1,1.5

Unlt 15 - Probablilty and Statistics

Exerclsas, page 377
1. a. ({red,green, purple} b. 13 c. 173 d 0
2. a. No,becausethe probability of spinning a 3 is twice as great as spinng a2

b. Make each region 1/3 of circle

Practice, paga 377
1. a 1/6oroi8 b. 1/50r02 c. 1150r0.06 d. 1100r0.1 e. 1/520r0.019
2. a. Random b. Notrandom C. Notrandom d. Random
e. Random
3. No;P(penny) =13 or 0.3, P{dime)=2/3 or 0.6 \
4 a 1/60r0.18 b. 0 c 1 d.  Yes, The ragions of the circle are aqual,
Exercises, page 378 '
1. a 1/100r0.1 b. 110+1/10=2/100r02
c. 6/100r08 d o e. 4/100r0.4
2. a 1/15=0.08 b. 715,045 c. 35=06 d. 173,03
3. a. Predorblue) b. Pinotredor blus)

ractice, page 379

1. & 180018 b. 1/80r0.16 €. 0/Boro d. 13or0d e 1R2or0s
f. 12oro0s g. 5/60r0.83
h. Answers vary with experiments, yet should be closeto the probabilities

2 a (H1A3 ()14 (liy1/26 {v)=5/130rP(2,4,6,80r10)= 513
b. Answers va’ry with experiments, yet should be close to the probabilities

I a 12 b. 172 c. 3/50 d 15 e 1/4
f. 950 . )

4. 086 ]

5. a 150r0.2 b. " 37250r0.12 c. 0/250r0 d. 17/250r0.68 8. 4/50r0.8
f.  25/250r1 g. 25/250r1

.A BASIC Probabillity Program, page 379
1. Line 10 picks out a random number batween 0 and 1 and muftiplies it by 6 since there are & faces on a dis.
The 1 is added to avoid getting a zero.
2. 10FORZ=1TO50
20LET X =INT (B$RND(1) + 1
J0PRINTX
40NEXT Z
50 END
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Exerclses, page 380

1. &

C.
2. &

1/80r0.125
a2

24 b, ()36 (36

Practice, page 381

1, a. 3x2=06outcomes
e. 3x2x5=30outcomes
2. a. 6x8=48cutcomes
c. 6x6=36outcomes
3. a 3x4=12combinations
4. B
The Thousandth Toss, page 381
a. 1/20r05 b. 120105
' Exerclses, page 382
1. a 4
c. 12x172=1/40r0.25
a. 1/20r05
2. a 14x1/2=18=0.125
c. /2x1/2=1/40r0.25
e (1/2+1/4)x1/2=3/80r0.375
g. 12x12=1/40r0.25
Practica page 383
a 12x16=112 b. 1/2x16=1/12
f. 1x1/6=1/6 g 1x1=1
2, a 1/6x1/8=1/48 b. 16 x4/8=112
f. 46x4B=1/3 @g. 46x38=1/4
3. a 1!2x1r2x1,'2=1l8
c d 12
g.

1!2 P (HHT, THT, HTH, or TTH)

4. ¥Ax23=1/2

The Eccentric Mililonalre, page 383

Bag 1: 1 white ball P (white) = 1, Bag 2 1 white ball P {white) =

Exerclsas, page 384

1. a.
c.
e.
2. a
3. a

12+12=110or1:1
5/6 + 1/6=5/1 or5:1
3/4+1/4=3/10r3:1
3/4
an’

Practice, page 385

1.

W

F -9
pproppEPEPOM

12+1/2=110r1:1
48/52 + 4/52 = 12/1 or 12:1
4/52+ 48/52 =112 0r 1:12

.3 b. 8

310 b. 7110

P=1/6x1/2=112,0dds =11/12+1/12=111
P=1/2%1/2=1/4, 0dds =3/4 + 1/4 =311

P=1x1/6 =1/6, odds =5/6+ 1/6 =511
Pe1/2x2/6=1/6,0dds 5/6+1/6 =51

P=1/2%1/2 = 1/4, 0dds = 3/4 + 1/4 = 3.

cag

poTOFO

b

Fo

oy

~agrop

5x 2 =10 outcomes
3 x 7 X 2 = 42 oulcomes
15 x 2 x 2 = 60 outcomes

1/12 or 0.083
12

1/2x 12 =1/40r 0.25

1R2x1/2=140r0.25

3/40r0.75 -
1/4%x1/2=1/8=0.125

12+ 114 =3/4or 0.75
[1—(1!2+1.’4)]x1/2—1.f80r0 125

1/2x 2/6=1/6 d.
12x12=1/4
1/6x0=0 d.
1x48=172 I
12xi2x1/2=148

12 f.

1/50 x 3/20 = 3/1000

39/52 + 13/52=3/1 or3:1
48/52 + 4/52 =121 or12:1

3id+1/4=31or31
2/5

A6+ 2/6 =21 or 2:1

50/52 + 2/52 = 25/1 or 2511
43/52 + 9/52 = 43/9 or 43:9

11 d. 311

1/2x 2/6=1/6 a.

2Gx2/8 =112 8.
36 %38 =316 )

1/4 P (HHH o THH)

HHHH
HHHT
HHTH
HHTT
HTHH
HTHT
HTTH

THHH
THHT
THTH
THTT
TTHH
TTHT
TTTH

1/2x1=1/72

3I6x1/8=1/16
46x4/8=173

&M

- 1; Bag 3: 98 whito and 100 black P (white) = 981 98cr0.48
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P(2,3,0or5and 2, 4 or 6) = 1/4, odds = 3:1
P(6,10or1,60r5,.20r2,50r4, 3or3, 4)=1/8, odds = 5:1

5. ‘& P(3,3) = 1/6 x 1/6 = 1/36, odds = 35/36 + 1/36 = 351
b. P(2,50r5,2)=1/36+1/36=1/18,odds=17!18+1/18=17:1
€. P=1/36,0dds 351 d. P=1/36, odds = 35:1
8. P=5/36,0dds = 31:5 ) f. P=1/12 odds=11:1
g.
h.

The Track Meet, page 385
P (Gerald wins and relay team is 1st or 2nd)=6/10x 8/10 = 12/25,
odds against the schoo! winning the frack meat = 13/25 + 12725 =13M120r13:12

Exerclses, page 386
1. 7M0x3/9=7/30 2. 71M0x6/9=7/15 3. 310x2@=1/15 4. Piyellow, yellow) = 7/15
5. 310 6. Piyollow, yeliow or yellow, green or grean, yellow) = 7/15 + 7/30 + 7/30 = 14/15

Practice, page 387

1. TStdraw:P(B)=5/8P(W)=3/B;2nddraw:P(B, B)=5i14P(B,W)=15f56P(W.B)=15!56P(W,W)=3.’28

2 1-(1/10+ 255 +1/5)=3/10

3. a P(N.D)+P(D.N)=(5f13x3i17)+(3!18x5!17)=5!51
b. P(N.N.N)=5/18x4/17x316=5/08 o, 0 d. P(D,D,D)=318x217x1/16=1/816
a. P(notP.notP)=1-(10/18:9/1?)=12/17

4. P(Bla, Bla}+ P (Bro, Bro) + P (Blu, Blu) = {818%x717) + (418X 317} + (6/18 x 5/17) = 49/153
P {Blu, Blu) =6/18x 5/17 = 5/51

Review, page 387
1.

HH, HT, TH, 7T
2. a 18 b. 173 e 12 d. 06
3 4x2x2=16
4. a 1/8x1/6=1/0 b, 3B/ x1/6=110 c. 15x0=0 d. 25x2/6=2/15
e 4/5+1/5 odds 4:1 f. P(LA=15/x16= 1/30, odds = 29/30 + 1/30 = 29/1 or 20:1
5 a P(A,S)+P(S,A)=(3/6x2/5)+(2/6x3f5)=2!5
b. PAA=36x25=15 c. PAA)=15
d. P(A,R)+P(R,A)=(3[,6x1/5)+(1/6x3/5)=1/5 ’

Exerclses, page 388 7

1. 100%

2. a 25% b. 125% c. 75% d. 625% e. 62.5%
3 a 35x3/5=36% b, 25x35= 24% c. 0%

4. a. 3/5x2/4=30% b. 25x1/4=10% c. 100%

Practice, page 389
1

. B 1M4orzs% b. 1/20r50% c. 1/160r6.25% d. 3/16or18.75% o. 1/dorosy
f. 120r50% g. 3Bora’5% h. 1/80r12-1/2% l.  0r160r0%
2. a . 1/4x1/8-3.125% b. 1/4x1/8=3125%
€. 3/8x3/8=14.0625% d. 3/8Bx5/8=23.4375%
e. 1/4x5/8-15625% . P(3.5)+P(5.3)+P(2,6)+P(62)=18=125%
9- P(2,3)+P(3,2)+ P{1,6)+P(B,1)=3/16 = 18.75%
h. P=5/2-=15.625%
3. a 11.4% b. 13.3% e 100% d. B80% e. 095%
L 40% g. 0% h. PD,D)=143% L 0%
4. B B0%x75% = 45% b.  75%x 30% = 22.5%
c. 40% d. 40% X 30% = 12%

A Birthday Program, page 389

a. P=the probability of 2 peaple in the group not having the same birthday
PROB = the probabilty of two people having the same birthday
PERCENT = the percant prabability of two people having the same birhday

b. To change fraction to percent c. 23

Exerclses, page 390

1. a 05x100=50 b. 0.3x100=30 c. 0.7x100=70 d ©
a. a—0.5x840=420;b—0.3x840=252;c—0.7x840=588,‘d—0
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2. 8 P(6)=0.125 P(1)=0.25 P(3)=0.125 P(4) = 0.5

b. 45,90,45,6180 €. (6x0.125)+(1x0.25)+ (3x0.125) + (4 x 0.5) = 3.375
Practice, page 391
1. a O b. 4173 2. a 52172 b. 2-3/8
3. a. B84 b. 22 4. a 10 b. $2.90
5 a 2 b. 055
6. TDo P=03, TD+1pt. 5 P=0.24, TD+nopt. - P=0.06, FG— P=02
a. 396 or about 40 points b. 2.64points
7. a 7
b. 7,12!1.'36+11x1.f18+10x1,'12+9x1,'9+8x5r36+7x1!6+6x5!36+511/9+4x1/12+3x1i18+2x1.'36
= 6-11/18 ¢. Inthiscase, yes

Letter Sequence, page 331
O-ne, T—wo, T—hree, F—our, F—ive, S—ix, S —aven, Eight, Nine, Ter, Eleven, Twalve

Exerclses, page 392
1. No 2. a 43.75% b. 6563
3. Choose an equal number of boys and girls from your grade lavel list 4. Yes

Practice, page 393

1. a. Peoplsinonly one location may not be repressntative of citizenship b. sameasa.
c. Five students is not enough d. Basketball players only are not representative of all students
e. Not all Saskatchewan voters can represent Alberta voters

2. Yes

3. a small: 29 red, 27 blua, 19 green; medium : 48 red, 36 blue, 33 green; large : 26 red, 19 blue, 15 green;
extra large : 20 red, 15 blue, 13 green b. 10125 mred, 8125 m blue, 6750 m green
c. 1255,195M,100L,80 XL

Shesap and Ducks, page 393
40 sheep and 60 ducks

Exarclses, page 394
1. Sedan TS|, 56%; Convertible: |1, 18%: Pick-up: L]}, 14%; Truck:titk]. 12%; Total: 50, 100%
2. Football L 21; Baseball: T T, 25-1/3%; Soccer: HLHHTH . 14-2/3%;

Hockey: HHHIH ORI 11} 28%; Other-HikTHHH -, 30

Exerclses, page 3985

1. 4=3.8%,5=77%,6=231%,7=30.8%,8=192%,9= 11.5%, 10=3.8%
2. 19=77%,13=308%, 14 =385%, 15=20.5%, 16 =2.5%
3. 0=8.1%,1=40.5%,2=20.7%,3=16.2%,4=27%5= 2.7%
4. W=860%,L=25%,T=15%
5. Red: ||| |Il, 20%; Blue: 14, 35%; Green: |j|| |, 15%; Yellow: |||, 4; Orange: 8, 20%,; Total: 100%
a. 210 : b. 300 (120 Red + 60 Yellow + 120 Orange)
Canadilan Facts, page 395
a. 26.7% b. 55%
Exerclses, page 396
1. a 36° b. 180° c. 324° d. 216° e. 128°
2. a. 50° b. 110° c. 1%5° d. 200°
3. a 180°50% b. 45°,12.5% e. 60°16.7% d. 72° 20%
Practice, pagse 397
1. a 90° b. 108° c. 3.6° d. 205.2° e 3204°
2. a 330° b. 9¢° c. 36° d 270°
3. 8 NT% b. 25% c. 10% d. 75%
4. a 108° 28.8° 2052°18° b. 86.4°,72° 100.8°,68.4°,32.4°
5.  Answers willvary
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Review, page 397 :

1. a " 50% b. 1623% . ¢, 83-13%

2. (06x3)+(0.25x5)+{0.15x 8) = 4.25h

3. A A=42-2/5%,B=383-1/3%,5=24-4/9% ¢. 10/45x800~2338

Test - Unlt 15, page 398

1. a 25 b. 172 e. 12
2. & 410x210=2/25 ' b. 4/10x4/10=4/25
’ e. 410x5M10=1/5 d. 6H0+410=3/20r3:2
8. P{blue, 3) = 410x 1/10 = 1/25, odds against = 24/25 + 1/25 = 24/1 = 241
3. a 410x3/9=2/115- . b. 110x4/9=2/45 e 1/10x3/9=1/730
4. 7x10x3=210
6 a PH=12=50% " b. P{50or6)=2/6=3313%
€. P(heart)=13/52 = 25% " - '
6. a P(§3)=1/2, P($6)=1/8, P(§9) = 1/4, P($12) = 1/8
b. 320,80, 160, 80 C. (122%3)+ (1/8x6)+(1/4 X 9) + (1/8x% 12) = $6
7. a  Retum: 18/40 x 500 = 225; Empire: 12/40 x 500 = 150; Star Wars: 10/40x 500 = 125
b, Frequency Percent : T 45%
Return 18 45%
Empire - 12 30%

Star Wars 10 25% 108°
Total 40 100% 30% 259,

Looking Back - Graphs and Rslations, page 399
1. )

{-4,-3,-2,-1,0,1} 2. {3 3. {9 . 4 @or{} 5 {1}
6 {}ord 7. Province and related number of letters 8. Percent and related fraction
9. -10,-5,0,5 10. 14,7,0,-7 11. 5,4,3,2 12. 2nd. quadrant 13. 4th.
14, x-axis “15. 3rd. 22, y=x+15;(1,16) 28, y=4x/(1,4) -

24. P'=(10,-4), AFGH: F'=(1,-1) G'= (4, 3) H'= (4, -1)
25. P'=(-3,-2), AFGH: F'= (6, 1) G'= (3,5) H'(3, 1)
26. P'=(-3,2), AFGH: F'= (6, 1) G'= (3, -5) H'(3, -1)

a

Unit 16 ~ Problem Solving

Exerclses, page 401
1. 300+90+1=4-1/3h ' 2. 2000+600=31/3h
3. 600+80+2=9-1/2h 4. b.ecqgald

Practlce, page 401
3. 6snorks

Exerclses, page 402
1. (Greatest: 14 (50) + 14 (40) = $1260 .
2. Greatest: 350 + 90 + 0.5 = 4.23F h; Least: 350 + 80 = 4,375 h; The greatest and least are hoth 4.4 h

Practlce, page 403

. Least: 98 000 x 0.780 = 76 440; Greatest: 98 000 x 0.990 = 67 020; Between 76 4401 and 970201 -

Least: 218 x 3.5 + 218 x 0.75 = 926.50; Greatest: 218 x5 + 218 x 0.75 = 1253.50; Between $926.50 and $1253.50
Least: (0.5 +1.5 + 2.5) 15 = $67.50; Greatest: (0.75 + 2 + 3) 15 = $86.25; Yas -

39 goals; Least: 13x3=29

Least: 2 (5.50) = $11; Greatest: 2 (7.98) = $15.96; Between $11 and $15.95

Least: 16 (36} = 576, Greatest: 16 (120) = $1920; Between $576 and $1920

O

Calculator Challenge, page 403
37 and 38, 372 = 1369, 387 = 1444, 1444 - 136975
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Exerclses, page 404 ‘,
1. a 1 b. 1 c. 1 : d 1 b
2 a 1 b. 1 c. 1 d -1

o. The ditterence batween the product of the twa middle numbers and the product of e two end numbers alternates

between1and-1.i.a.,1,1,2,3,—;1;1,2,3,5—»-1;2,3,5.3'—»1‘,3, 5.8,13 5 -1;and soon.

Practice, page 405 )
1. © }
2. 72.49,73 =343, 74 = 2401, 75 = 16 807, 76 = 117649, 77 = 823543

a9 b. 1 c. 3 d 1
3. 522552 125, 5% 625,55 = 3125, 56 = 15 625,57 =78 125

a B b. 1 c. 6 d 1 )
4, 299.2+37.9=7.89kmh 5. For a13year old: 365.25x 24 x13=113858 h
6. Average distanca: (356 300 + 406 700} +2 = 381 500 km; Time: 381 500 + 850 = 448.8 h
7. 4191 +11 436 =0.366 . 8. 162+539=0.301

Patiern Search, page 405
111 and 1000 (binary numerals)

Exerclses, page 406
1. Rests: 70 x 60 = 4200 beats/h; Jogs: 90 x 60 = 5400 beats/h
2. 2400+ 900 + 2400+ 700 = 6.1 hor 6h & min.

Practice, page 407

1. Earth:9.8x82=803.6 N;Moon: 1/6x 803.6=133.93 N

2. Concentrales: 2000 + 40 = 50 min.; Distracted: 2000 + 20 =100 min.

4. Men: 1 000 000 x 0.003 = 3000; Women: 1 000 000 x 0.000 05 = 50 4. 2vyoarsat11-3/4%

Review, page 407

1. 4822025, 552 = 3025, 752 = 5625, 1352 = 18 225, 2052 = 42 025

2. Least: 409.55 x 10 + 25 = $4120.50; Greatest: 447.88x 10 + 25 = $4503.80
3 2.8 1 ,03.72 0,9%-656 1,99=5904 9

4. Early season: 30 000 x 0.12 = 3600 L; Late season: 30 000 x 0.31 = 9300 L

Exercises, page 408

. 24x23x22=12144 groupings 2. (6x5x4)+6=20days
4.. 12x11x10=1320groupings

1.

Practice, page 409

1

(9% 6) + (9 x 4) = 90 outfits, 6 x 4 x 9 = 216 outlils 2. 6x5x4x3x2x1=7200rders
3. 10x9+2=45pairs

(Each of 10 students throws to 8 others. Divide by 2 since no toss-and-catch pair is counted twice.)

4 B 26x26x26x10x10x10=17576000 h. No
5. 21x5+5x21=210words 6. 4x5x9=180programs
7. a. .6x5x4=120ways b. 8x7x6x5=1680ways

c. 120x 1680 x2x 9 =3 628 800 ways

Routas, page 408

10 INPUT "HOW MANY PATHS BETWEEN A AND B™X

20 INPUT "HOW MANY PATHS BETWEEN B AND C*Y

30 INPUT "HOW MANY PATHS BETWEEN C AND D";Z
ADLETAD=X$YSZ

50 PRINT *THERE ARE "X;"§ ™Y, § ~Z;" = ~AD;" ROUTES"
60 PRINT "FROM A TOD. "

Exerclses, page 410

1. Bert: 12/50 = 24%; Kim: 12/60 = 20% 2. (8O0 -—650)+B00=18.75%
3. 2400116000 =15%

4, a. (75x0.80)x0.90 = $54 b. (75-54)+75=28%




GO, page 411 ‘ ’
a. 5100=5% b. 550=10% ¢. 510=50% d. 55=100% e. 51
-- $1.00 Cdn. = $0.80 U.S. ... U.S, dollar is worth 0.20/0.80 or 25% more '
a. 1927 b. (47 4+ 60+ 54+ 46 + 49+ 46) + 714~ 42 3%,
(254.4-227.33)+254.4 = 10.6% .
About 7-1/2 years ; 3 years ~ 1.33 million, 4 years ~ 1,46 million, 5 years = 1.61 million, 6 years =~ 1.77 million,
7 years ~ 1.95 million, 8 years ~ 2.14 million

L S o

Oldsr and Younger Every Yesr, page 411
Ages now: Mike = 4 years (100% older), Molly = 2 years;
Ages in 8 years: Mike = 12 years (Mike is 20% older), Molly = 10 ysars

Exercises, page 412
1. perimeter = 64/7 m, area = 44/7 m2
2. a. perimeter of circle = 396 cm, area of circle = 12474 em?
b. perimeter of shaded figure = 504 cm, area of shaded figure = 3402 cm?2
3. perimster=14m, area=9 m2 4. perimeter = 272/7 mm, area = 732/7 mm2
5 48 tj:rn2

Practice, page 413

1. 64m 2. 125cm 3. 2Bcm 4, 154cm
5. 92m 6. 576/7cm 7. 240cm 8. 645mm
9. a 28m b. 44m . 10. 21 emé 11, 21.52m2
12, 89.97 m2 13. 1920 cm 14. 1810.81 cm2

Review, page 415
1. 6x3x2 =36 combinations 2. 150%
3. a. Plyellow, yslow)=35x2/4=3/100r03 b. P(blue, blug)=2/5x1/4=1400r0.1

Test— Unh 18, page 416

=500%

1. b 2,185 224 000 kg and 166 318 000 kg

3. a 7 b. 9 c. 1 d 3

4. Before: $90; After: $30 5. 26x26x10x 10 =67 800 codes

6. a. 193 million b. 11.03%graps in 1984; less

Looking Back - Probablilty and Statistics, page 417

1. 6

2. & 1/80r0.16 b. 1/80r0,16 e. 0/6or0 d 1830r03 e. 1/20r05
f. 120r05 g 120r05 h. 6&/#6ort ’ L 130r03 . 0

3. 3x3x2=18combinations

4, a 1/27orQ. b. 1227=4M00r0F ¢ 4/270r0.148 d. 261 8. 17:10

6. a Plgil,gM=6/15x514=1/7 b.  P(girl, boy) + P (boy, girl} = (6/15 x 5/14) + (5/15 x 6/14) = 2/7
c. P{adult, boy)+ P(boy adult) = (4/15 x 5/14) + (5/15 x 4/14) = 4/21

6. a 42% b. 18%

T Toa. P=1/6foreachof1,2,3,4,5,0r6 b. Answers vary c. Answers vary

8. Food = 15% = 54°; Clothes 55% = 198°; Entertainment 20% = 72°% Saving = 10% = 36°

362016

514



